IP67 D-SUB CONNECTORS

PART NUMBER CREATOR

61SITIDIOJOISIAIMIOJOIBI3JORX

Product Line
6 = Shell brass tin plated with die-cast frame
4 = Shell brass tin plated with plastic frame or without frame
8* = Shell stainless steel with or without die-cast frame
9* = Shell stainless steel with plastic frame
* on request
Variations
STD = D-SUBMINIATURE, Standard

HDD = D-SUBMINIATURE, High Density

Position for STD Position for HDD
09 = 9pos. 15 =15 pos.
15 =15 pos. 26 =26 pos.
25 =25 pos. 44 =44 pos.
37 =37 pos. 62 =62 pos.
50 =50 pos. 78 =78 pos.
Contact type

P = Plug connector

S = Socket connector

A = Adapter

Quality class for contacts

|ﬂ||ﬂ"

A = Quality class 3 = 50 mating cycles

B = Quality class 2 = 200 mating cycles

C = Quality class 1 = 500 mating cycles

Termination

M = Solder cup

R = Solder pin, straight

T = Solder pin, angled, .189"/4.80 mm

U = Solder pin, angled, .276"/7.00 mm

z = Solder pin, angled, .465"/11.8 mm

Y = Solder pin, angled, .220"/5.60 mm (high density design only)

A = Adapter

Capacitance

99 = Without filter for STD and HDD

Mounting style

Al =Riveted for wire assembly shell without sealing frame E2  =4-40 UNC Threaded rear spacer with PCB clip, PCB 1,60 mm
B2  =M3 threaded insert S1 = Metal bracket, M3 threaded insert

B3 =4-40 UNC threaded insert S2 = Metal bracket, 4-40 UNC threaded insert

B4  =M3 front spacer S3 = Metal bracket, M3 threaded insert and PCB clip

B5  =4-40 UNC front spacer S4 = Metal bracket, 4-40 UNC threaded insert and PCB clip
B7  =4-40 UNC front spacer and rear mounting stud R1 = Metal bracket, M3 threaded insert

B8  =M3 threaded lock for adapter R2 = Metal bracket, 4-40 UNC threaded insert

B9  =4-40 UNC front spacer for adapter R3 = Metal bracket, M3 threaded insert and PCB clip

El = M3 threaded rear spacer with PCB clip .063"/1.60 mm R4 = Metal bracket, 4-40 UNC threaded insert and PCB clip
0X = Standard

8|2

CONEC®



PANEL MOUNTING

FRONT PANEL MOUNTING

REAR PANEL MOUNTING

CONEC® 8|3



IP67 D-SUB CONNECTORS

IP67 D-SUB STANDARD

Solder cup — Precision machined contacts — For wire size AWG 20

RoHS compliant - CSA listed, File No.LR115000-1 UL listed, File No. E202784

SOCKET CONNECTOR

~

1O

\

09

No. of pos.

203,

A+03
21.10
21.10
21.10
21.10
23.90

B +03 C D2 025
3940 2500 ‘oz 1646
4770 3330 701 2479
6140 4704 053 3850
7790 6350 013 54.96

7550 6110 ‘J1f 5255

Sealing compound

0.25
X

0
59025

DESCRIPTION

PLUG CONNECTOR

Suitable for wire size AWG 20
Mounting style:
with 4-40 UNC or M3 threaded insert including hex locking bolt
Quality class 3 (also available in quality class 1)

Shell: Brass tin plated (stainless steel available on request)

Nickel plated die-cast frame
(Black plastic frame on request)

.

+ 4

J "HU

HHH|
PR BN
AR TP PERTRA

it

No. of pos.

9

15
25
37
50

7003

A+03
21.10
21.10
21.10
21.10
23.90

B +03
39.40
4770
61.40
7790
75.50

C D1 +025
2500 T91 1679
3330 ‘g0 25.12
4704 013 3884
63.50 013 5530

52.68

6110 "9

E 030
5.82
5.82
5.69
5.69
5.69

Sealing compound

Rubber-Gasket

9-37 pos.

I
109552
50 pos.
ORDER DATA
SOCKET CONNECTOR PLUG CONNECTOR
No. of pos. Mounting style Part Number No. of pos. Mounting style Part Number
09 M3 Threaded insert 6STD09SAMI9B20X 09 M3 Threaded insert 6STDO9PAM99B20X
15 M3 Threaded insert 6STD15SAM99B20X 15 M3 Threaded insert 6STD15PAM99B20X
25 M3 Threaded insert 6STD25SAM99B20X 25 M3 Threaded insert 6STD25PAM99B20X
37 M3 Threaded insert 6STD37SAM99B20X 37 M3 Threaded insert 6STD37PAM99B20X
50 M3 Threaded insert 6STD50SAM99B20X 50 M3 Threaded insert 6STD50PAM99B20X
09 4-40 UNC Threaded insert 6STD09SAMI9B30X 09 4-40 UNC Threaded insert 6STDO9PAM99B30X
15 4-40 UNC Threaded insert 6STD15SAM99B30X 15 4-40 UNC Threaded insert 6STD15PAM99B30X
25 4-40 UNC Threaded insert 6STD25SAM99B30X 25 4-40 UNC Threaded insert 6STD25PAM99B30X
37 4-40 UNC Threaded insert 6STD37SAM99B30X 37 4-40 UNC Threaded insert 6STD37PAM99B30X
50 4-40 UNC Threaded insert 6STD50SAM99B30X 50 4-40 UNC Threaded insert 6STD50PAMI9B30X
Ve o)

8|4

®
CONEC



IP67 D-SUB CONNECTORS

IP67 D-SUB STANDARD

Solder pin — Straight — Precision machined contacts

DESCRIPTION
m  Mounting styles:
- with 4-40 UNC or M3 threaded insert including
hex locking bolt
- with 4-40 UNC or M3 threaded rear spacer and PCB clip
including hex locking bolt
m  Quality class 3 (also available in quality class 1)
m  Shell: Brass tin plated (stainless steel available on request)
m  Nickel plated die-cast frame
(Black plastic frame on request)

RoHS compliant - CSA listed, File No.LR115000-1 UL listed, File No. E202784

SOCKET CONNECTOR PLUG CONNECTOR
8 No.of pos. A-+03 B +03 C D2 025 8 No. of pos. A+03 B+03 (ot D1 -+025 E-030
< 09 21.10 3940 2500 +0n 1646 < 9 2110 3940 2500 ‘9 1679 582
02 15 21.10 4770 3330 '3 2479 D1 15 2110 4770 3330 “§) 25102 582
25 21.10 6140 4704 =03 3850 25 2110 6140 4704 03 3884 569
f( 37 10 7790 6350 013 54.96 f( 37 2110 7790 6350 <01 5530 569
r 3 +014 r +014
P — 50 23.90 7550 6110 ‘§} 5255 50 2390 7550 6110 ‘9 5268 569
< 6L {0606 . o (oo
©reooe O 5+
k PCB-Layout: Kat1kFVA / Kat1kFUA N PCB-Layout: Kat1kFVA / Kat1kFUA
\ \

Mounting style: Threaded insert

Sealing compound

Sealing compound I

8.23%° | \Rubber-Gasket

8.2:03
B:03

4-40 UNC

025
0
0
59025
o
‘3

Mounting style: Mounting style:
Threaded rear spacer with PCB clip Threaded rear spacer with PCB clip

10.95:5%

50 pos.
ORDER DATA

SOCKET CONNECTOR PLUG CONNECTOR

No. of pos. Mounting style Part Number No. of pos. Mounting style Part Number

09 M3 Threaded insert 6STD09SAR99B20X 09 M3 Threaded insert 6STDO9PAR99B20X
15 M3 Threaded insert 6STD15SAR99B20X 15 M3 Threaded insert 6STD15PAR99B20X
25 M3 Threaded insert 6STD25SAR99B20X 25 M3 Threaded insert 6STD25PAR99B20X
37 M3 Threaded insert 6STD37SAR99B20X 37 M3 Threaded insert 6STD37PAR99B20X
50 M3 Threaded insert 6STD50SAR99B20X 50 M3 Threaded insert 6STD50PAR99B20X
09 4-40 UNC Threaded insert 6STDO9SAR99B30X 09 4-40 UNC Threaded insert 6STDO9PAR9IIB30X
15 4-40 UNC Threaded insert 6STD15SAR99B30X 15 4-40 UNC Threaded insert 6STD15PAR99B30X
25 4-40 UNC Threaded insert 6STD25SAR99B30X 25 4-40 UNC Threaded insert 6STD25PAR99B30X
37 4-40 UNC Threaded insert 6STD37SAR99B30X 37 4-40 UNC Threaded insert 6STD37PAR99B30X
50 4-40 UNC Threaded insert 6STD50SAR99B30X 50 4-40 UNC Threaded insert 6STD50PAR99B30X
09 M3 Threaded rear spacer PCB clip 6STDO9SARIIE10X 09 M3 Threaded rear spacer PCB clip 6STDO9PAR9I9ET10X
15 M3 Threaded rear spacer PCB clip 6STD15SAR99E10X 15 M3 Threaded rear spacer PCB clip 6STDT5PAR99ET0X
25 M3 Threaded rear spacer PCB clip 6STD25SAR99E10X 25 M3 Threaded rear spacer PCB clip 6STD25PAR99E10X
37 M3 Threaded rear spacer PCB clip 6STD37SAR99E10X 37 M3 Threaded rear spacer PCB clip 6STD37PAR99ET0X
50 M3 Threaded rear spacer PCB clip 6STD50SAR99E10X 50 M3 Threaded rear spacer PCB clip 6STD50PAR99E10X
09 4-40 UNC Threaded rear spacer PCB clip 6STDO9SAR9I9E20X 09 4-40 UNC Threaded rear spacer PCB clip 6STDO9PAR9I9E20X
15 4-40 UNC Threaded rear spacer PCB clip 6STD15SAR99E20X 15 4-40 UNC Threaded rear spacer PCB clip 6STDT5PAR99E20X
25 4-40 UNC Threaded rear spacer PCB clip 6STD25SAR99E20X 25 4-40 UNC Threaded rear spacer PCB clip 6STD25PAR99E20X
37 4-40 UNC Threaded rear spacer PCB clip 6STD37SAR99E20X 37 4-40 UNC Threaded rear spacer PCB clip 6STD37PAR99E20X
50 4-40 UNC Threaded rear spacer PCB clip 6STD50SAR99E20X 50 4-40 UNC Threaded rear spacer PCB clip 6STD50PAR99E20X

PCB clip .122"/3.1 +.004"/0.10 mm hole diameter and .063"/1.6 mm circuit board thickness

CONEC® 8|5



IP67 D-SUB CONNECTORS

8|6

IP67 D-SUB STANDARD
Solder pin — Angled —.189"/4.8 mm — Precision machined contacts — Metal bracket

RoHS compliant - CSA listed, File No.LR115000-1 UL listed, File No. E202784

SOCKET CONNECTOR

DESCRIPTION

m  Mounting styles:

- with mounting bracket and 4-40 UNC or M3 threaded insert
including hex locking bolt
- with mounting bracket, PCB clip and M3 or
UNC 4-40 threaded insert including hex locking bolt
m  Quality class 3 (also available in quality class 1)
m  Shell: Brass tin plated (stainless steel available on request)
m  Nickel plated die-cast frame
(Black plastic frame on request)

PLUG CONNECTOR

No. of pos. A+03 B +03 C D2 025 i No.of pos. A+03 B+03 C D1 -+025 E-030
C 09 21.10 3940 2500 02 1646 < 9 2110 3940 2500 ‘9 1679 582
02 15 21.10 4770 3330 'gp 2479 01 15 2110 4770 3330 0} 2512 582
25 21.10 61.40 47.04 =013 38.50 25 21.10 6140 4704 =013 3884 5.69
v, N 37 21.10 7790 6350 :on 5496 V, 37 2110 7790 6350 <01 5530 569
S 50 23.90 7550 6110 ‘O 5255 50 2390 7550 6110 ‘0 5268 569
< (Ez { ¢%§w @m « (EE ‘*;4:;
k \$096 J PCB-Layout: Kat1kGSA \ PCB-Layout: Kat1kGSA
N—
\ / \
Mounting style: Mounting bracket, threaded insert Mounting style: Mounting bracket, threaded insert
635203 635503
" EES I - 13
o s Sealing compound P
! P = £ 802055 e H \Rubber-Gasket
“ 9-37 pos. 9-37 pos.
Mounting style: PCB clip, threaded insert Mounting style: PCB clip, threaded insert
75203 ,520.3
357203 | 357:03 .
0 I
g g = g g
10873 5 M3 10.95:4%
4-40 UNC
50 pos. 50 pos.
ORDER DATA
SOCKET CONNECTOR PLUG CONNECTOR
No. of pos. Mounting style Part Number No. of pos. Mounting style Part Number
09 M3 Threaded insert 6STDO9SATIISTOX 09 M3 Threaded insert 6STDO9PATI9S10X
15 M3 Threaded insert 6STD15SAT99S10X 15 M3 Threaded insert 6STD15PAT99S10X
25 M3 Threaded insert 6STD25SAT99S10X 25 M3 Threaded insert 6STD25PAT99S10X
37 M3 Threaded insert 6STD37SAT99S10X 37 M3 Threaded insert 6STD37PAT99S10X
50 M3 Threaded insert 6STD50SAT99S10X 50 M3 Threaded insert 6STD50PATI9S10X
09 4-40 UNC Threaded insert 6STDO9SATI9S20X 09 4-40 UNC Threaded insert 6STDO9PATI9520X
15 4-40 UNC Threaded insert 6STD15SAT99520X 15 4-40 UNC Threaded insert 6STD15PAT99S20X
25 4-40 UNC Threaded insert 6STD25SAT99520X 25 4-40 UNC Threaded insert 6STD25PAT99520X
37 4-40 UNC Threaded insert 6STD37SAT99520X 37 4-40 UNC Threaded insert 6STD37PAT99520X
50 4-40 UNC Threaded insert 6STD50SAT99520X 50 4-40 UNC Threaded insert 6STD50PAT99520X
09 PCB clip/ M3 Threaded insert 6STDO9SATI9S30X 09 PCB clip/M3 Threaded insert 6STDO9PATI9S30X
15 PCB clip/M3 Threaded insert 6STD15SAT99S30X 15 PCB clip/M3 Threaded insert 6STD15PAT99S30X
25 PCB clip/M3 Threaded insert 6STD25SAT99530X 25 PCB clip/M3 Threaded insert 6STD25PAT99S30X
37 PCB clip/M3 Threaded insert 6STD37SAT99S30X 37 PCB clip/M3 Threaded insert 6STD37PAT99S30X
50 PCB clip/M3 Threaded insert 6STD50SAT99S30X 50 PCB clip/M3 Threaded insert 6STD50PAT99S30X
09 PCB clip/4-40 UNC Threaded insert 6STDO9SATI9S40X 09 PCB clip/4-40 UNC Threaded insert 6STDO9PATI9540X
15 PCB clip/4-40 UNC Threaded insert 6STD15SAT99S40X 15 PCB clip/4-40 UNC Threaded insert 6STD15PAT99540X
25 PCB clip/4-40 UNC Threaded insert 6STD25SAT99540X 25 PCB clip/4-40 UNC Threaded insert 6STD25PAT99540X
37 PCB clip/4-40 UNC Threaded insert 6STD37SAT99540X 37 PCB clip/4-40 UNC Threaded insert 6STD37PAT99540X
50 PCB clip/4-40 UNC Threaded insert 6STD50SAT99540X 50 PCB clip/4-40 UNC Threaded insert 6STD50PAT99S40X

PCB clip .122"/3.1 +.004"/0.10 mm hole diameter and .063"/1.6 mm circuit board thickness

CONEC®



IP67 D-SUB STANDARD
Solder pin — Angled —.276"/7.0 mm — Precision machined contacts — Metal bracket

RoHS compliant - CSA listed, File No.LR115000-1 UL listed, File No. E202784

SOCKET CONNECTOR

No. of pos.
e 09
D2 15

=
’{%
Q)

A-o03
21.10
21.10
21.10
21.10
23.90

B +03 C

3940 2500 +on
4770 3330 ‘gy
6140  47.04 :on
7790 63.50 <01
75.50

16.46
2479
38.50
54.96
52.55

6110 9}

PCB-Layout: Kat1kGTA

Mounting style: Mounting bracket, threaded insert

635203

{13.620.2)

99102

ORDER DATA

2.84

+0
595025

[

1503

108752

50 pos.

D2 025

9.9102
{13.640.2)

DESCRIPTION

IP67 D-SUB CONNECTORS

m  Mounting styles:
- with mounting bracket and 4-40 UNC or M3 threaded insert
including hex locking bolt
- with mounting bracket, PCB clip and M3 or
UNC 4-40 threaded insert including hex locking bolt
Quality class 3 (also available in quality class 1)
Shell: Brass tin plated (stainless steel available on request)
Nickel plated die-cast frame
(Black plastic frame on request)

PLUG CONNECTOR

f(
IS

1€
\

i No.of pos. A-o03

B +03 C

3940 2500 '9p
4770 3330 9%
6140 4704 01
7790 6350 013
7550 6110 ‘o)

D1 +025
16.79
25.12
38.84
55.30
5268

E-030
582
5.82
5.69
5.69
5.69

21.10
21.10
21.10
21.10
23.90

PCB-Layout: Kat1kGTA

Mounting style: Mounting bracket, threaded insert

318

6.3503

45533

<
b4 Sealing compound

795502
{6.6320.2)

284
7103

0.2
9

)
e 8.23:2%5| \ Rubber-Gasket

9-37 pos.

SOCKET CONNECTOR

No. of pos. Mounting style

09

M3 Threaded insert

M3 Threaded insert

M3 Threaded insert

M3 Threaded insert

M3 Threaded insert

4-40 UNC Threaded insert

4-40 UNC Threaded insert

4-40 UNC Threaded insert

4-40 UNC Threaded insert

4-40 UNC Threaded insert

PCB clip/ M3 Threaded insert

PCB clip/M3 Threaded insert

PCB clip/M3 Threaded insert

PCB clip/M3 Threaded insert

PCB clip/M3 Threaded insert

PCB clip/4-40 UNC Threaded insert
PCB clip/4-40 UNC Threaded insert
PCB clip/4-40 UNC Threaded insert
PCB clip/4-40 UNC Threaded insert
PCB clip/4-40 UNC Threaded insert

Part Number

6STDO9SAUI9I9R10X
6STDT5SAU99R10X
6STD25SAU99RTOX
6STD37SAU99R10X
6STD50SAU99R10X
6STDO9SAU99R20X
6STD15SAU99R20X
6STD25SAU99R20X
6STD37SAU99R20X
6STD50SAU99R20X
6STDO9SAU99R30X
6STD15SAU99R30X
6STD25SAU99R30X
6STD37SAU99R30X
6STD50SAU99R30X
6STDO9SAUI9R40X
6STD15SAU99R40X
6STD25SAU99R40X
6STD37SAU99R40X
6STD50SAU99R40X

PCB clip .122"/3.1 +.004"/0.10 mm hole diameter and .063"/1.6 mm circuit board thickness

PLUG CONNECTOR

No. of pos. Mounting style

09

M3 Threaded insert

M3 Threaded insert

M3 Threaded insert

M3 Threaded insert

M3 Threaded insert

4-40 UNC Threaded insert

4-40 UNC Threaded insert

4-40 UNC Threaded insert

4-40 UNC Threaded insert

4-40 UNC Threaded insert

PCB clip/M3 Threaded insert

PCB clip/M3 Threaded insert

PCB clip/M3 Threaded insert

PCB clip/M3 Threaded insert

PCB clip/M3 Threaded insert

PCB clip/4-40 UNC Threaded insert
PCB clip/4-40 UNC Threaded insert
PCB clip/4-40 UNC Threaded insert
PCB clip/4-40 UNC Threaded insert
PCB clip/4-40 UNC Threaded insert

Part Number

6STDO9PAUIIRTOX
6STD15PAU99R10X
6STD25PAU99R10X
6STD37PAU99RTOX
6STD50PAU9IRTOX
6STDO9PAUIIR20X
6STD15PAU99R20X
6STD25PAU99R20X
6STD37PAU99R20X
6STD50PAU99R20X
6STDO9PAU9IR30X
6STD15PAU99R30X
6STD25PAU99R30X
6STD37PAU99R30X
6STD50PAUS9R30X
6STDO9PAU9IRA0X
6STD15PAU99R40X
6STD25PAU99R40X
6STD37PAU99R40X
6STD50PAU99R40X

CONEC®

8|7




IP67 D-SUB CONNECTORS

IP67 D-SUB STANDARD
Solder pin — Angled —.464"/11.8 mm - Precision machined contacts — Metal bracket

DESCRIPTION
m  Mounting styles:
- with mounting bracket and 4-40 UNC or M3 threaded insert
including hex locking bolt
- with mounting bracket, PCB clip and M3 or
UNC 4-40 threaded insert including hex locking bolt
m  Quality class 3 (also available in quality class 1)
m  Shell: Brass tin plated (stainless steel available on request)
m  Nickel plated die-cast frame
(Black plastic frame on request)

RoHS compliant - CSA listed, File No.LR115000-1 UL listed, File No. E202784

SOCKET CONNECTOR PLUG CONNECTOR

No. of pos. A +03 B +03 C D2 025 | No.ofpos. A+3 B+03 C D1 +025 E-030
4 09 21.10 3940 2500 ‘95 1646 < 9 2110 3940 2500 ‘g1 1679 582
02 15 21.10 4770 3330 ‘01 2479 01 15 2110 4770 3330 ‘g 2512 582
25 21.10 61.40 4704 =013 38.50 25 21.10 61.40 4704 =013 3884 5.69
f( w\ 37 21.10 7790 6350 03 5496 f( 37 2110 7790 6350 013 5530 569
D
(66066 ] n o b -o-—¢ 5 -
« s wvasa-) © J PCB-Layout: Kat1kGUA < [o)p St PCB-Layout: Kat1kGUA
\ N
\ / \
Mounting style: Mounting bracket, threaded insert Mounting style: Mounting bracket, threaded insert
6.35:0.3
635203
3'?0.5
T 33463
g
- — Sealing compound
I w Sealing compaund o 2 - )
3 sl g2 N 2
° RSN DS,

4 LM
2 8.239% | \Rubber-Gasket

9,
4

0.25
=
=
=

M3
4-40 UNC
ORDER DATA

SOCKET CONNECTOR PLUG CONNECTOR

No. of pos. Mounting style Part Number No. of pos. Mounting style Part Number

09 M3 Threaded insert 6STD09SAZ99510X 09 M3 Threaded insert 6STDO9PAZ99S10X
15 M3 Threaded insert 6STD15SAZ99510X 15 M3 Threaded insert 6STD15PAZ99510X
25 M3 Threaded insert 6STD255AZ99510X 25 M3 Threaded insert 6STD25PAZ99510X
37 M3 Threaded insert 6STD37SAZ99510X 37 M3 Threaded insert 6STD37PAZ99S10X
09 4-40 UNC Threaded insert 6STD09SAZ99520X 09 4-40 UNC Threaded insert 6STDO9PAZ99520X
15 4-40 UNC Threaded insert 6STD155AZ99520X 15 4-40 UNC Threaded insert 6STD15PAZ99520X
25 4-40 UNC Threaded insert 6STD255A799520X 25 4-40 UNC Threaded insert 6STD25PAZ99520X
37 4-40 UNC Threaded insert 6STD375AZ99520X 37 4-40 UNC Threaded insert 6STD37PAZ99520X
09 PCB clip/M3 Threaded insert 6STDO9SAZ99S30X 09 PCB clip/M3 Threaded insert 6STDO9PAZ99530X
15 PCB clip/M3 Threaded insert 6STD15SAZ99530X 15 PCB clip/M3 Threaded insert 6STD15PAZ99S30X
25 PCB clip/M3 Threaded insert 6STD25SAZ99S30X 25 PCB clip/M3 Threaded insert 6STD25PAZ99530X
37 PCB clip/M3 Threaded insert 6STD37SAZ99S30X 37 PCB clip/M3 Threaded insert 6STD37PAZ99530X
09 PCB clip/4-40 UNC Threaded insert 6STD09SAZ99540X 09 PCB clip/4-40 UNC Threaded insert 6STDO9PAZ99S40X
15 PCB clip/4-40 UNC Threaded insert 6STD15SAZ99540X 15 PCB clip/4-40 UNC Threaded insert 6STD15PAZ99540X
25 PCB clip/4-40 UNC Threaded insert 65TD255A799540X 25 PCB clip/4-40 UNC Threaded insert 6STD25PAZ99540X
37 PCB clip/4-40 UNC Threaded insert 6STD37SAZ99540X 37 PCB clip/4-40 UNC Threaded insert 6STD37PAZ99540X

PCB clip .122"/3.1 +.004"/0.10 mm hole diameter and .063"/1.6 mm circuit board thickness

CONEC®

8|8



IP67 D-SUB CONNECTORS

IP67 D-SUB STANDARD

Solder cup — Precision machined contacts — Front mounting — For wire size AWG 20

DESCRIPTION
m  Suitable for wire size AWG 20
m  Mounting styles:
s | = ‘E- N \/ - with M3 or 4-40 UNC front spacer

:‘ -; JF' - with M3 or 4-40 UNC front spacer and rear mounting stud

= ____"_'__'.‘ m  Quality class 3 (also available in quality class 1)
- Shell: Brass tin plated (stainless steel available on request)
m  Nickel plated die-cast frame
(Black plastic frame on request)

(—

RoHS compliant - CSA listed, File No.LR115000-1 UL listed, File No. E202784

SOCKET CONNECTOR PLUG CONNECTOR

8 No.of pos. A-+03 B +03 C D2 025 8 No. of pos. A+03 B+03 (ot D1 -+025 E-030
C 09 21.10 3940 2500 -0 1646 c 9 2110 3940 2500 “9) 1679 582
02 15 21.10 4770 3330 '3 2479 01 15 2110 4770 3330 “§) 25102 582
25 21.10 6140 4704 =03 3850 25 2100 6140 4704 0 3884 569
¥, 3 37 2110 7790 6350 o1 54.96 V 37 2110 7790 6350 <013 5530 569
50 23.90 7550 6110 01 5255 ( A 50 2390 7550 6110 o)) 5268  5.69
S on o
« (]Rl (00000 ﬁmm « Il e
L% 0600 j L/ T
L N/
\ / \

Mounting style: Front spacer

4-40 UNC

Mounting style: Front spacer
M3

Sealing compound
4-40 UNC

Sealing compound

0O-Ring i 0-Ring -S-I ; ) I
' , — |
: [ J1] | s L= J[]] g|
e “ .8 5.02:0 55 ke H 8.23:3%5| \ Rubber-Gasket
7 9-37 pos. 9-37 pos.
Mounting style: Front spacer and rear mounting stud Mounting style: Front spacer and rear mounting stud
aD D
== ==
é __qa 4-40 UNC ==
| SR |
i
440 UNC l | UEE i
e 50 pos. L 50 pos.
ORDER DATA
SOCKET CONNECTOR PLUG CONNECTOR
No. of pos. Mounting style Part Number No. of pos. Mounting style Part Number
09 M3 Front spacer 6STDO9SAMI9B40X 09 M3 Front spacer 6STDO9PAMI9BA0OX
15 M3 Front spacer 6STD15SAM99B40X 15 M3 Front spacer 6STD15PAM99B40X
25 M3 Front spacer 6STD25SAM99B40X 25 M3 Front spacer 6STD25PAM99B40X
37 M3 Front spacer 6STD37SAM99B40X 37 M3 Front spacer 6STD37PAM99B40X
50 M3 Front spacer 6STD50SAM99B40X 50 M3 Front spacer 6STD50PAM99B40X
09 4-40 UNC Front spacer 6STDO9SAMI9B50X 09 4-40 UNC Front spacer 6STDO9PAMI9B50X
15 4-40 UNC Front spacer 6STD15SAM99B50X 15 4-40 UNC Front spacer 6STD15PAM99B50X
25 4-40 UNC Front spacer 6STD25SAM99B50X 25 4-40 UNC Front spacer 6STD25PAM99B50X
37 4-40 UNC Front spacer 6STD37SAM99B50X 37 4-40 UNC Front spacer 6STD37PAM99B50X
50 4-40 UNC Front spacer 6STD50SAM99B50X 50 4-40 UNC Front spacer 6STD50PAMI9B50X
09 4-40 UNC Front spacer and rear mounting stud 6STDO9SAM99B70X 09 4-40 UNC Front spacer and rear mounting stud 6STDO9PAMI9B70X
15 4-40 UNC Front spacer and rear mounting stud 6STD15SAM99B70X 15 4-40 UNC Front spacer and rear mounting stud 6STD15PAM99B70X
25 4-40 UNC Front spacer and rear mounting stud 6STD25SAM99B70X 25 4-40 UNC Front spacer and rear mounting stud 6STD25PAM99B70X
37 4-40 UNC Front spacer and rear mounting stud 6STD37SAM99B70X 37 4-40 UNC Front spacer and rear mounting stud 6STD37PAM99B70X
50 4-40 UNC Front spacer and rear mounting stud 6STD50SAM99B70X 50 4-40 UNC Front spacer and rear mounting stud 6STD50PAM99B70X

CONEC®



IP67 D-SUB CONNECTORS

IP67 D-SUB STANDARD

Solder cup — Precision machined contacts — For hood Assembly — For wire size AWG 20

DESCRIPTION
m  Suitable for wire size AWG 20
m  Mounting style:
- with through-hole, @ .118" /3.0 mm
— m  Quality class 3 (also available in quality class 1)
m  Shell: Brass tin plated (stainless steel available on request)

RoHS compliant - CSA listed, File No.LR115000-1 UL listed, File No. E202784

SOCKET CONNECTOR PLUG CONNECTOR
A
No.ofpos. A0  B2-02s C A No. of pos. A B1 +025 C D-030
B2 09 3119 1646 2500 ‘0% Bt 09 3119 1679 2500 92 612
15 3952 2479 3330 ‘03 15 3952 2512 3330 95 6.2
r A 25 5342 3850  47.04 o1 r l ) 25 5342 3884 4704 03 599
2|
3 c} ‘® & <> 37 69.70 5496  63.50 o 1"3 A (oo dee ) N 37 69.70 5530 6350 s05 599
2 ) © 50 6731 5255 6110 O = + + N4 50 6731 5268 6110 ‘O 599
A ”l S/ \ J
A o8 j W
] R e
< ¢
Sealing compound Sealing compound

95+0.3

2 3 Q’ IR
8 8.02%) 45 8.23:9%| \Rubber-Gasket
3
9-37 pos. 9-37 pos.
108755
15758 76
50 pos. 50 pos.
ORDER DATA
SOCKET CONNECTOR PLUG CONNECTOR
No. of pos. Mounting style Part Number No. of pos. Mounting style Part Number
09 Through-hole 4STD09SAMI9ATOX 09 Through-hole 4STDO9PAMI9ATOX
15 Through-hole 4STDT5SAM99AT0X 15 Through-hole 4STD15PAM99AT0X
25 Through-hole 4STD255AM99A10X 25 Through-hole 4STD25PAM99A10X
37 Through-hole 4STD37SAM99ATOX 37 Through-hole 4STD37PAM99ATOX
50 Through-hole 4STD50SAM99AT0X 50 Through-hole 4STD50PAM99AT10X

8[10 COMNEC®



IP67 D-SUB CONNECTORS

IP67 D-SUB HIGH DENSITY

Solder cup — Precision machined contacts — For wire size AWG 22

DESCRIPTION
m  Suitable for wire size AWG 22
m  Mounting style:

with 4-40 UNC or M3 threaded insert including hex locking bolt
m  Quality class 3 (also available in quality class 1)
Shell: Brass tin plated (stainless steel available on request)
m  Nickel plated die-cast frame

(Black plastic frame on request)

RoHS compliant - CSA listed, File No.LR115000-1 UL listed, File No. E202784

SOCKET CONNECTOR PLUG CONNECTOR

No. of pos. A +03 B +03 C D2 025 No. of pos. A+03 B+03 C D1+025 E-030
< 15 2110 3940 2500 ') 1646 4 15 2110 3940 2500 ‘g1 1679 582
D2 26 2110 4770 3330 0 2479 D1 26 2110 4770 3330 ‘g 2512 582
44 21.10 6140 4704 =013 3850 44 2110 6140 4704 =013 3884 569
. I \ 62 21.10 7790 6350 015 5496 62 2100 7790  63.50 03 5530 569
m 78 23.90 7550 6110 ‘0 5255 78 2390 7550 6110 ‘91 5268 569
< {riie ol |
\ J

Sealing compound Sealing compound

8.8:03

8.8:03
6.3:03

6.3:03,

15-62 pos.

63
®
o
%

a

8.02.9 ¢ Rubber-Gasket

4-40 UNC

15-62 pos.

087

109592

78 pos. 78 pos.
ORDER DATA

SOCKET CONNECTOR PLUG CONNECTOR

No. of pos. Mounting style Part Number No. of pos. Mounting style Part Number

15 M3 Threaded insert 6HDD15SAM99B20X 15 M3 Threaded insert 6HDD15PAM99B20X
26 M3 Threaded insert 6HDD26SAMI9B20X 26 M3 Threaded insert 6HDD26PAM99B20X
44 M3 Threaded insert 6HDD44SAM99B20X 44 M3 Threaded insert 6HDD44PAM99B20X
62 M3 Threaded insert 6HDD62SAM99B20X 62 M3 Threaded insert 6HDD62PAMI9B20X
78 M3 Threaded insert 6HDD785AM99B20X 78 M3 Threaded insert 6HDD78PAM99B20X
15 4-40 UNC Threaded insert 6HDD15SAM99B30X 15 4-40 UNC Threaded insert 6HDD15PAM99B30X
26 4-40 UNC Threaded insert 6HDD26SAM99B30X 26 4-40 UNC Threaded insert 6HDD26PAM99B30X
44 4-40 UNC Threaded insert 6HDD44SAM99B30X 44 4-40 UNC Threaded insert 6HDD44PAM99B30X
62 4-40 UNC Threaded insert 6HDD62SAM99B30X 62 4-40 UNC Threaded insert 6HDD62PAM99B30X
78 4-40 UNC Threaded insert 6HDD78SAM99B30X 78 4-40 UNC Threaded insert 6HDD78PAM99B30X

CONEC®

8|1



IP67 D-SUB CONNECTORS

IP67 D-SUB HIGH DENSITY

Solder pin — Straight — Precision machined contacts

DESCRIPTION

m  Mounting styles:
- with 4-40 UNC or M3 threaded insert including hex locking bolt
- with M3 or 4-40 UNC threaded rear spacer and PCB clip

including hex locking bolt

m  Quality class 3 (also available in quality class 1)

Shell: Brass tin plated (stainless steel available on request)

Nickel plated die-cast frame

(Black plastic frame on request)

RoHS compliant - CSA listed, File No.LR115000-1 UL listed, File No. E202784

SOCKET CONNECTOR PLUG CONNECTOR

8|12

No. of pos. A +03 B +03 C D2 025 | No.ofpos. A+3 B+o3 C D1+025 E-030
< 15 2110 3940 2500 '35 1646 15 2110 3940 2500 ‘g1 1679 582
D2 26 2110 4770 3330 05 2479 26 2110 4770 3330 ‘g 2512 582
44 21.10 6140 4704 =01 3850 44 2110 6140 4704 =013 3884 569
62 21.10 7790 63.50 03 5496 62 2100 7790 6350 01 5530 569
78 23.90 7550 6110 ‘g 5255 78 2390 7550 6110 9 5268  5.69
<
PCB-Layout: Kat1kGDA / Kat1iT9A PCB-Layout: Kat1kFWA / Kat1iUOA

8.85:03

Sealing compound

o
8.02.025

i)

o
592825

15-62 pos.

Mounting style: Threaded rear spacer with PCB clip

7.9203 |

8.85:03

Sealing compound

+0.25
363

4
8.23:9%%| \ Rubber-Gasket

15-62 pos.

Mounting style: Threaded rear spacer with PCB clip

19803

105532

78 pos.
ORDER DATA

SOCKET CONNECTOR PLUG CONNECTOR

No. of pos. Mounting style Part Number No. of pos. Mounting style Part Number

15 M3 Threaded insert 6HDD15SAR99B20X 15 M3 Threaded insert 6HDD15PAR99B20X
26 M3 Threaded insert 6HDD26SAR99B20X 26 M3 Threaded insert 6HDD26PAR99B20X
44 M3 Threaded insert 6HDD44SAR99B20X 44 M3 Threaded insert 6HDD44PAR99B20X
62 M3 Threaded insert 6HDD62SAR99B20X 62 M3 Threaded insert 6HDD62PAR99B20X
78 M3 Threaded insert 6HDD78SAR99B20X 78 M3 Threaded insert 6HDD78PAR99B20X
15 4-40 UNC Threaded insert 6HDD15SAR99B30X 15 4-40 UNC Threaded insert 6HDD15PAR99B30X
26 4-40 UNC Threaded insert 6HDD26SAR99B30X 26 4-40 UNC Threaded insert 6HDD26PAR99B30X
44 4-40 UNC Threaded insert 6HDD44SAR99B30X 44 4-40 UNC Threaded insert 6HDD44PAR99B30X
62 4-40 UNC Threaded insert 6HDD62SAR99B30X 62 4-40 UNC Threaded insert 6HDD62PAR99B30X
78 4-40 UNC Threaded insert 6HDD78SAR99B30X 78 4-40 UNC Threaded insert 6HDD78PAR99B30X
15 M3 Threaded rear spacer PCB clip 6HDD15SAR99E10X 15 M3 Threaded rear spacer PCB clip 6HDD15PAR99ET10X
26 M3 Threaded rear spacer PCB clip 6HDD26SAR99E10X 26 M3 Threaded rear spacer PCB clip 6HDD26PAR9I9E10X
44 M3 Threaded rear spacer PCB clip 6HDD44SAR99E10X 44 M3 Threaded rear spacer PCB clip 6HDD44PARI9E10X
62 M3 Threaded rear spacer PCB clip 6HDD62SARI9IETOX 62 M3 Threaded rear spacer PCB clip 6HDD62PARI9IE10X
78 M3 Threaded rear spacer PCB clip 6HDD78SAR99E10X 78 M3 Threaded rear spacer PCB clip 6HDD78PAR99E10X
15 4-40 UNC Threaded rear spacer PCB clip 6HDD15SAR99E20X 15 4-40 UNC Threaded rear spacer PCB clip 6HDD15PAR99E20X
26 4-40 UNC Threaded rear spacer PCB clip 6HDD26SARI9E20X 26 4-40 UNC Threaded rear spacer PCB clip 6HDD26PAR9I9E20X
44 4-40 UNC Threaded rear spacer PCB clip 6HDD44SAR99E20X 44 4-40 UNC Threaded rear spacer PCB clip 6HDD44PAR99E20X
62 4-40 UNC Threaded rear spacer PCB clip 6HDD62SAR99E20X 62 4-40 UNC Threaded rear spacer PCB clip 6HDD62PAR9I9E20X
78 4-40 UNC Threaded rear spacer PCB clip 6HDD78SAR99E20X 78 4-40 UNC Threaded rear spacer PCB clip 6HDD78PAR99E20X

PCB clip .122"/3.1 £.004"/0.10 mm hole diameter and .063"/ 1.6 mm circuit board thickness

Vel | Hel
\\ll~ =



IP67 D-SUB HIGH DENSITY
Solder pin — Angled —.220"/5,6 mm — Precision machined contacts — Metal Bracket

RoHS compliant - CSA listed, File No.LR115000-1 UL listed, File No. E202784

SOCKET CONNECTOR

IP67 D-SUB CONNECTORS

DESCRIPTION

m  Mounting styles:
- with mounting bracket and 4-40 UNC or M3 threaded insert
including hex locking bolt
- with mounting bracket, PCB clip and
4-40 UNC or M3 threaded insert including hex locking bolt
m  Quality class 3 (also available in quality class 1)
Shell: Brass tin plated (stainless steel available on request)
m  Nickel plated die-cast frame
(Black plastic frame on request)

PLUG CONNECTOR

No. of pos. A +03 B +03 C D2.025 No. of pos. A+03 B+03 C D1+025 E-030
C 15 2110 3940 2500 '3n 1646 c 15 2110 3940 2500 ‘g 1679 582
D2 26 2110 4770 3330 ‘g 2479 o1 26 2110 4770 3330 ‘g 2502 582
44 21.10 61.40 4704 013 3850 44 21.10 61.40 4704 =013 3884 5.69
7 62 2110 7790 6350 +0n 5496 62 2110 7790 6350 =0 5530 569
( 78 23.90 7550 6110 'g) 5255 78 2390 7550 6110 ‘ol 5268  5.69
= PCB-Layout: Kat1kGVA PCB-Layout: Kat1kGWA
\
Mounting style: Mounting bracket, threaded insert Mounting style: Mounting bracket, threaded insert
6.35¢03 6.35:03
3395 _ 3305
g $3.8 4 I~
SED Sealing compound o g . ealing compoun
, ! FE T Sl
. 2 = L -
T SERNYIT
I.-Lhoaunt H QE 802255 0-!;;19 ,’_,";BUN( < 823375 |\ Rubber-Gasket.
o 15-62 pos. 15-62 pos.
Mounting style: PCB clip, threaded insert Mounting style: PCB clip, threaded insert
1.5403 lﬁ]‘
i_l___ s |
i
ul ]
g 4 g,
10.8775 10,9545
ORDER DATA 78 pos. 78 pos.
SOCKET CONNECTOR PLUG CONNECTOR
No. of pos. Mounting style Part Number No. of pos. Mounting style Part Number
15 M3 Threaded insert 6HDD15SAY99R10X 15 M3 Threaded insert 6HDD15PAY99R10X
26 M3 Threaded insert 6HDD26SAY99R10X 26 M3 Threaded insert 6HDD26PAY99R10X
44 M3 Threaded insert 6HDD44SAY99R10X 44 M3 Threaded insert 6HDD44PAY99R10X
62 M3 Threaded insert 6HDD62SAY9IR10X 62 M3 Threaded insert 6HDD62PAY9I9R10X
78 M3 Threaded insert 6HDD78SAY99R10X 78 M3 Threaded insert 6HDD78PAY99R10X
15 4-40 UNC Threaded insert 6HDD15SAY99R20X 15 4-40 UNC Threaded insert 6HDD15PAY99R20X
26 4-40 UNC Threaded insert 6HDD265SAY99R20X 26 4-40 UNC Threaded insert 6HDD26PAY99R20X
44 4-40 UNC Threaded insert 6HDD44SAY99R20X 44 4-40 UNC Threaded insert 6HDD44PAY99R20X
62 4-40 UNC Threaded insert 6HDD62SAY99R20X 62 4-40 UNC Threaded insert 6HDD62PAY99IR20X
78 4-40 UNC Threaded insert 6HDD78SAY99R20X 78 4-40 UNC Threaded insert 6HDD78PAY99R20X
15 PCB clip/ M3 Threaded insert 6HDD15SAY99R30X 15 PCB clip/M3 Threaded insert 6HDD15PAY99R30X
26 PCB clip/M3 Threaded insert 6HDD26SAY99R30X 26 PCB clip/M3 Threaded insert 6HDD26PAY99R30X
44 PCB clip/M3 Threaded insert 6HDD44SAY99R30X 44 PCB clip/M3 Threaded insert 6HDD44PAY99R30X
62 PCB clip/M3 Threaded insert 6HDD62SAY99R30X 62 PCB clip/M3 Threaded insert 6HDD62PAY99R30X
78 PCB clip/M3 Threaded insert 6HDD78SAY99R30X 78 PCB clip/M3 Threaded insert 6HDD78PAY99R30X
15 PCB clip/4-40 UNC Threaded insert 6HDD15SAY99R40X 15 PCB clip/4-40 UNC Threaded insert 6HDD15PAY99R40X
26 PCB clip/4-40 UNC Threaded insert 6HDD26SAY99RA0X 26 PCB clip/4-40 UNC Threaded insert 6HDD26PAYI9R40X
44 PCB clip/4-40 UNC Threaded insert 6HDD44SAY99R40X 44 PCB clip/4-40 UNC Threaded insert 6HDD44PAY99R40X
62 PCB clip/4-40 UNC Threaded insert 6HDD62SAY99R40X 62 PCB clip/4-40 UNC Threaded insert 6HDD62PAY99RA0X
78 PCB clip/4-40 UNC Threaded insert 6HDD78SAY99R40X 78 PCB clip/4-40 UNC Threaded insert 6HDD78PAY99R40X

PCB clip .122"/3.1 +.004"/0.10 mm hole diameter and .063" /1.6 mm circuit board thickness

CONEC®



IP67 D-SUB CONNECTORS

8|14

IP67 D-SUB HIGH DENSITY

Solder cup — Precision machined contacts — Front mounting — For wire size AWG 22

RoHS compliant - CSA listed, File No.LR115000-1 UL listed, File No. E202784

SOCKET CONNECTOR

No. of pos. A +03
15 21.10
26 21.10
44 2110
62 21.10
78 23.90

4-40 UNC

88246103

B +03 C D2 025
3940 2500 ') 1646
4770 3330 ‘05 2479
6140 4704 =013 3850
7790 6350 0 54.96
7550 6110 ‘Ji 5255

Sealing compound

DESCRIPTION

PLUG CONNECTOR

Suitable for wire size AWG 22
Mounting styles:
- with M3 or 4-40 UNC front spacer

- with M3 or 4-40 UNC front spacer and rear mounting stud
Quality class 3 (also available in quality class 1)
Shell: Brass tin plated (stainless steel available on request)

Nickel plated die-cast frame
(Black plastic frame on request)

No. of pos. A+03 B+03
15 2110 39.40
26 21.10 47.70
44 2110 6140
62 21.10 7790
78 2390 7550

Mounting style: Front spacer

M3
4-40 UNC

I

C D1+025 E-030
2500 91 1679 582
3330 ‘01 2512 582
4704 <013 3884 569
6350 013 5530 569
6110 ‘gl 5268  5.69

Sealing compound

0-Riny SRR A a5 O-Ring T
] ]
= [ J L 8 % 4 [ =R=-R=] J H
L-L’;BUNE 4 35 5 802555 L-Ll:suut [y S
w 15-62 pos. 15-62 pos.
Mounting style: Front spacer and rear mounting stud Mounting style: Front spacer and rear mounting stud
ao aTo
== ==
§ % A-L'SBUNE $
0-Rin | 4 , I ’»v"z '
w3 |
4-40 UNC L3
ORDER DATA
SOCKET CONNECTOR PLUG CONNECTOR
No. of pos. Mounting style Part Number No. of pos. Mounting style Part Number
15 M3 Front spacer 6HDD155AM99B40X 15 M3 Front spacer 6HDD15PAM99B40X
26 M3 Front spacer 6HDD26SAM99B40X 26 M3 Front spacer 6HDD26PAM9I9B40X
44 M3 Front spacer 6HDD44SAM99B40X 44 M3 Front spacer 6HDD44PAM99B40X
62 M3 Front spacer 6HDD62SAMI9BA0X 62 M3 Front spacer 6HDD62PAM99B40X
78 M3 Front spacer 6HDD78SAM99B40X 78 M3 Front spacer 6HDD78PAM99B40X
15 4-40 UNC Front spacer 6HDD155AM99B50X 15 4-40 UNC Front spacer 6HDD15PAM99B50X
26 4-40 UNC Front spacer 6HDD26SAMI9B50X 26 4-40 UNC Front spacer 6HDD26PAMI9B50X
44 4-40 UNC Front spacer 6HDD44SAM99B50X 44 4-40 UNC Front spacer 6HDD44PAM99B50X
62 4-40 UNC Front spacer 6HDD62SAM99B50X 62 4-40 UNC Front spacer 6HDD62PAM99B50X
78 4-40 UNC Front spacer 6HDD78SAM99B50X 78 4-40 UNC Front spacer 6HDD78PAM99B50X
15 4-40 UNC Front spacer and rear mounting stud 6HDD15SAM99B70X 15 4-40 UNC Front spacer and rear mounting stud 6HDD15PAM99B70X
26 4-40 UNC Front spacer and rear mounting stud 6HDD26SAM99B70X 26 4-40 UNC Front spacer and rear mounting stud 6HDD26PAM99B70X
44 4-40 UNC Front spacer and rear mounting stud 6HDD44SAM99B70X 44 4-40 UNC Front spacer and rear mounting stud 6HDD44PAM99B70X
62 4-40 UNC Front spacer and rear mounting stud 6HDD62SAMI9B70X 62 4-40 UNC Front spacer and rear mounting stud 6HDD62PAM99B70X
78 4-40 UNC Front spacer and rear mounting stud 6HDD78SAM99B70X 78 4-40 UNC Front spacer and rear mounting stud 6HDD78PAM99B70X
,n

®
CONEC



IP67 D-SUB CONNECTORS

IP67 D-SUB HIGH DENSITY

Solder cup — Precision machined contacts — For hood Assembly — For wire size AWG 22

DESCRIPTION
m  Suitable for wire size AWG 22
m  Mounting style:
with through-hole, @ .118" /3.0 mm
= m  Quality class 3 (also available in quality class 1)
m  Shell: Brass tin plated (stainless steel available on request)

RoHS compliant - CSA listed, File No.LR115000-1 UL listed, File No. E202784

SOCKET CONNECTOR PLUG CONNECTOR

A No.of pos. A7  B2-02s C A No.ofpos. A7  B1+025 C D-030
82 15 3119 1646 2500 ‘073 Bl 15 31.19 1679 2500 ‘2 612
26 3952 2479 3330 ‘o 26 3952 2512 3330 ‘9 6.2
7 iff N 44 5342 3850  47.04 =01 44 53.42 3884 4704 03 599
<5 A Y A 62 69.70 5496  63.50 =013 .;:3 P hanr Aandl I 62 69.70 5530 6350 013 599
g o A% 78 6731 5255 6110 ‘O 3 N R eefbes Y 78 6731 6268 6110 21 599

LA J . I /

aiE IE

~
~

Sealing compound Sealing compound I

12103 _
11.2:03

.2+02

| 8703

o
] : T
o332 8 8.0270 55 8.23:3%5| \ Rubber-Gasket
B R
e 15-62 pos. 15-62 pos.
i
108770 55 10.95:475
15750 15.5% 26
78 pos. 78 pos.
ORDER DATA
SOCKET CONNECTOR PLUG CONNECTOR
No. of pos. Mounting style Part Number No. of pos. Mounting style Part Number
15 Through-hole 4HDD15SAM99AT0X 15 Through-hole 4HDD15PAM99ATOX
26 Through-hole 4HDD26SAM99AT0X 26 Through-hole 4HDD26PAM99AT0X
44 Through-hole 4HDD44SAM99AT0X 44 Through-hole 4HDD44PAM99A10X
62 Through-hole 4HDD62SAM99AT0X 62 Through-hole 4HDD62PAM99AT0X
78 Through-hole 4HDD78SAM99AT0X 78 Through-hole 4HDD78PAM99ATO0X

CONEC® 8|15



IP67 D-SUB CONNECTORS

IP67 D-SUB STANDARD SoLiD Boby

Solder cup — Precision machined contacts — For wire size AWG 20

DESCRIPTION
m  Suitable for wire size AWG 20
m  Mounting style:
4-40 UNC threaded insert including hex locking bolt
m  Quality class 3 (also available in quality class 1)
m  One-piece zinc die-cast nickel plated shell
m P67 for harsh environments, pressure-proof up to 1.45 PSI
m  Higher protection on request

RoHS compliant - UL listed, File No. E202784
SOCKET CONNECTOR PLUG CONNECTOR
A
No.of pos. A B2 025 © D I No.of pos. A B1 © D E
09 3940 ‘0% 1646 2500 ‘95 2110 '9° 09 3947030 16.81 0% 25007013 21.1°9° 6.00 01
B2 15 4770 0% 2479 3332 00 2110 % B 15 4777002514702 3332°08 211 % 600702
25 6140 "0o 3850 4704 =o: 2110 T 25 61.4 7020 38.86° 02 47.04=013 21.1°5* 59970,
V 37 7800 "02 5496  63.50 013 21.10 19’ ( N 37 78000 55327 05 63.50:013 21.1 0% 59977,
( 50 7560 "9 5255 6110 To} 23.90 O; ( w 50 756 035280 0% 61.10 91 23.9 '%3 59970,
a & a B fesese)
& O ¢éee &
—
\ J A J
A0 @’*
@1,16
SEALING #1.12
COMPOUND SEALING
SHOHEHEHY COMPOUND
G-RING MMM O-RING MM
M (| | | imm| A
[ r ] [ | 9-37 pos. B &w | ] | 9-37pos.
T
4-40 UNC o, 4-40 UNC | 2|8, ‘“l I;
35 | sS
i,_ 3 - g+o%2 & 3 823752
- g° -
el
< RUBBER GASKET
PLAGED ON TOP SURFACE
4-40 UNC 4-40 UNC OF MALE INSULATOR
50 pos. 50 pos.
o 10,85+2%2 1A%
g9 :
e
<
ORDER DATA
SOCKET CONNECTOR PLUG CONNECTOR

No. of pos. Mounting style 4-40 UNC

09 Threaded insert

15 Threaded insert

25 Threaded insert

37 Threaded insert

50 Threaded insert
Ve o)

®
CONEC

8|16

Part Number

15-000613
15-000623
15-000633
15-000643
15-002103

09 Threaded insert
15 Threaded insert
25 Threaded insert
37 Threaded insert
50 Threaded insert

No. of pos. Mounting style 4-40 UNC

Part Number

15-000573
15-000583
15-000593
15-000603
15-002093



IP67 D-SUB CONNECTORS

IP67 D-SUB STANDARD SoLiD Boby

Solder pin — Straight — Precision machined contacts

DESCRIPTION
m  Mounting style:

4-40 UNC threaded rear spacer with PCB clip
s, including hex locking bolt

- . . . .
ii # m  Quality class 3 (also available in quality class 1)
__,——-—"J m  One-piece zinc die-cast nickel plated shell
m P67 for harsh environments, pressure-proof up to 1.45 PSI
m  Higher protection on request
RoHS compliant - UL listed, File No. E202784
SOCKET CONNECTOR PLUG CONNECTOR
A
A
¢ No.of pos. A B2'0, C D ¢ No. of pos. A B1 [¢ D E
09 39.40 '9% 1646 2500 ‘g1 2110 °° B1 09 39.470% 16.81 752 25.007013 211 °5° 6.00°01%
B2 15 4770 793 2479 3332 795 2110 9P 15 477 7030 2514705333275 211707 600701,
25 6140 "5 3850 4704 :os 2110 [ . ~N 25 6147030 38,86 02 47.04+013 211757 59970,
f( w\ 37 7800 "0% 5496 6350 son 2110 'O 37 780°°%5532'°% 6350:05 211 % 599°°,
50 7560 ‘9l 5255 6110 ‘o) 23.90 o7 A eeeee ) A 50 75.6 7930 52.8070 ) 61.1070)1 23.9 707 59975,
a (ﬁ\ (ee0e® ,;Q @ O\ ssse O
¥ \\e0ee ) ¥ PCB-Layout: Kat1kFUA L PCB-Layout: Kat1kFUA
A /
o J/
10°
40°

SEALING

] ‘ SEALING
ﬂ%{ COMPOUND ER {‘ COMPOUND
] [ | 9-37 pos. | ] [ E | 9-37pos.
o|ee| |y | W
%;‘?’- gt{:cz ;:;:C‘} g? 0,02 {2 :u-) :\‘: D:D‘D 8’23 ngZE
o|-| 2 :,’;— rg 81535 Rl = )
9 RUBBER GASKET
< PLACED ON TOP SURFACE
4-40 UNC OF MALE INSULATOR
50 pos. 50 pos.
11,1798
o 10,8533 o
Y
ORDER DATA °
SOCKET CONNECTOR PLUG CONNECTOR
No. of pos. Mounting style 4-40 UNC Part Number No. of pos. Mounting style 4-40 UNC Part Number
09 Threaded rear spacer PCB clip 15-000453 09 Threaded rear spacer PCB clip 15-000413
15 Threaded rear spacer PCB clip 15-000463 15 Threaded rear spacer PCB clip 15-000423
25 Threaded rear spacer PCB clip 15-000473 25 Threaded rear spacer PCB clip 15-000433
37 Threaded rear spacer PCB clip 15-000483 37 Threaded rear spacer PCB clip 15-000443
50 Threaded rear spacer PCB clip 15-002063 50 Threaded rear spacer PCB clip 15-002053

PCB clip .122"/3.1 £.004"/0.10 mm hole diameter and .063"/1.6 mm circuit board thickness

CONEC® 8|17



IP67 D-SUB CONNECTORS

IP67 D-SUB STANDARD SoLib Boby
Solder pin — Angled —.402"/10.2 mm — Precision machined contacts — Metal bracket

DESCRIPTION
m  Mounting style:

mounting bracket, 4-40 UNC PCB clip

including hex locking bolt

Quality class 3 (also available in quality class 1)
One-piece zinc die-cast nickel plated shell

IP67 for harsh environments, pressure-proof up to 1.45 PSI
Higher protection on request

RoHS compliant - UL listed, File No. E202784

SOCKET CONNECTOR PLUG CONNECTOR

8|18

A A
c No.of pos. A B2 025 © D c No.of pos. A B1 © D E
B2 09 3940 ‘0% 1646 2500 ‘95 2110 '9° B 09 3947030 16.81 0% 25007013 21.1°9° 6.00 01
15 4770 139 2479 3332 93 2110 'Y? 15 4771030 2514022333275 211797 6.00°01:
. ~ 25 6140 "0 3850 4704 013 2110 'Q° 25 61.4 7020388602 47.04=015 21.1 * 59909
(( m 37 7800 ‘0% 5496 6350 o3 2110 O 37 78000 55327 05 63.50:013 21.170% 599799
( 50 7560 §3% 5255 6110 "o} 23.90 ¢} 50 756053 52.80 0} 61105} 239 19} 599753
@ o0 -on ol e o1 o2 on o1 03
o oo : 550
PCB-Layout: Kat1kGMA — PCB-Layout: Kat1kGNA
A /
10 10°
. . . . 474103 . i . . 4,85:03
Mounting style: Mounting bracket, PCB clip o 535500 Mounting style: Mounting bracket, PCB clip o s3520s
8 s
[ SEALING X SEALING
) LY / comrounn ) == R\ COMPOUND
1
= ] I ] 9-37 pos. == | [ i | 9-37 pos.
cosemr  32|32]8 ] so|eole | w
g5g g §8§2 P 40,02 %2‘32 %8;2 371%7) go
- g’ & ” RUBBER GASKET
- PLACED ON TOP SURFACE
{y=50pos 440 UNG "~ ()=50pos. OF MALE INSULATOR
5+03 -
512203
5x03
7.5:03
= i
3 T RN
5 SNkl - = IR
) I tg; PR 10 1)
50 pos. ] _EEJ_‘
22| 22 50 pos.
Blg e 108502 2|32 oy
g2y L 5l g 0,23
g ; g 1.1 %03
ORDER DATA
SOCKET CONNECTOR PLUG CONNECTOR
No. of pos. Mounting style 4-40 UNC Part Number No. of pos. Mounting style 4-40 UNC Part Number
09 Mounting bracket/PCB clip 15-000773 09 Mounting bracket/PCB clip 15-000733
15 Mounting bracket/ PCB clip 15-000783 15 Mounting bracket/ PCB clip 15-000743
25 Mounting bracket/ PCB clip 15-000793 25 Mounting bracket/ PCB clip 15-000753
37 Mounting bracket/ PCB clip 15-000803 37 Mounting bracket/ PCB clip 15-000763
50 Mounting bracket/ PCB clip 15-002143 50 Mounting bracket/ PCB clip 15-002133

PCB clip .122"/3.1 £.004"/0.10 mm hole diameter and .063"/1.6 mm circuit board thickness

CONEC®



IP67 D-SUB CONNECTORS

IP67 D-SUB STANDARD SoLib Boby
Solder pin — Angled —.590"/14.9 mm — Precision machined contacts — Metal bracket

DESCRIPTION

m  Mounting style:

mounting bracket, 4-40 UNC PCB clip

including hex locking bolt

Quality class 3 (also available in quality class 1)
One-piece zinc die-cast nickel plated shell

Higher protection on request

IP67 for harsh environments, pressure-proof up to 1.45 PSI

RoHS compliant - UL listed, File No. E202784

SOCKET CONNECTOR

PLUG CONNECTOR

A
c No.of pos. A B2'0, C D c No. of pos. A B1 [¢ D E
B2 09 39.40 '9% 1646 2500 ‘g1 2110 °° B1 09 39.470% 16.81 752 25.007013 211 °5° 6.00°01%
15 4770 793 2479 3332 795 2110 9P 15 477 7030 2514705333275 211707 600701,
25 6140 "5 3850 4704 :os 2110 [ v 3 25 61.4 7020 38.867 0oy 47.042013 21,1797 59975,
37 7800 "J3 5496  63.50 o1z 2110 19° (( m 37 78073 5532702 6350013 21.1 %% 59970,
a 50 7560 "o 5255 6110 ‘o1 23.90 'o; a @5 1%5%7} ,\@ 50 75.6 7930 52.8070 ) 61.1070)1 23.9 707 59975,
PCB-Layout: Kat1kGOA k T U PCB-Layout: Kat1kGPA
A J
A0
318405 3,18203
. . . 6,35£03 . . . © 6,35£03
Mounting style: Mounting bracket, PCB clip & Mounting style: Mounting bracket, PCB clip &
il N\ SEALING it . —\] \ ~SEALING I
) il 32|20 & \I | | comPounD ‘:'HM‘ ) Bz a |l / compouno
O-RING i ~ 2 :3 O-RING i N ] g\.g 2
m——| g ——— Sl
| ” ] 9 -37 pos. [ | [ i | 9-37 pos.
4-40 UNC } 3288ls05y g 4-40 UNG oD 90 g | W
© NS ;'? +0,02 go99| §99° 39
g. g ; g © ss 87023 5 § g g @ 8,2310%
Iﬁ] 2 - RUBBER GASKET
() =50 pos. © 845205 () = 50 pos. PLACED ON TOP SURFACE
4-40 UNC — 4-40 UNC OF MALE INSULATOR
7,5:03 3,45:03
! 7.5¢03
\ N\
<o N 1 M
99132 2o g A N
8la |5 RN <o N
g8 (o Y18zl &)
sl =1 S8 Ll
50 pos. S %
=1 ™ : | 50 pos.
- ]
% 1085:3%
) 11,1498
ORDER DATA <
SOCKET CONNECTOR PLUG CONNECTOR
No. of pos. Mounting style 4-40 UNC Part Number No. of pos. Mounting style 4-40 UNC Part Number
09 Mounting bracket/PCB clip 15-000853 09 Mounting bracket/PCB clip 15-000813
15 Mounting bracket/ PCB clip 15-000863 15 Mounting bracket/ PCB clip 15-000823
25 Mounting bracket/ PCB clip 15-000873 25 Mounting bracket/ PCB clip 15-000833
37 Mounting bracket/ PCB clip 15-000883 37 Mounting bracket/ PCB clip 15-000843
50 Mounting bracket/ PCB clip 15-002163 50 Mounting bracket/ PCB clip 15-002153

PCB clip .122"/3.1 £.004"/0.10 mm hole diameter and .063"/1.6 mm circuit board thickness

CONEC®

8|19



IP67 D-SUB CONNECTORS

IP67 D-SUB HiGH DENSITY SoLiD Boby

Solder cup — Precision machined contacts — For wire size AWG 22

RoHS compliant - UL listed, File No. E202784
SOCKET CONNECTOR PLUG CONNECTOR
A A
No.of pos. A B2 025 © D c No.of pos. A B1 © D E
15 3940 ‘0% 1646 2500 ‘95 2110 '9? 15 3947030 16.81 0% 25007013 211797 6.00 01
B2 26 4770 %2 2479 3332 ‘%8 2110 O B1 26 477 °22514'°23332°°8 211 °% 600 %2
44 6140 "0 3850 4704 013 2110 'Q° 44 61.4 7020388602 47.04=015 21.1 * 59909
r i N 62 7800 3% 5496 6350 o1 2110 'O’ ¢ O 62 78002 5532'02 6350:0m 2115 599 %0
( o'o'c'o'o W 78 7560 "0 5255 6110 T9)f 23.90 197 ( yowwwy w 78 75.6 930 5280707 611070} 23.9 '07 59957
B OO o X BAAAAA o
a 0000 o
L&” Qedee)) ¥ k‘u Cered "M)
A / \ %
@H AQ°
P1,04 1,04
SEALING
SEALING
Bt <o COMPOUND [ 2 fx / COMPOUND
O-RING . d } g9 O-RING SN . " ==
ma mal o mal o m M5 m
= |15 - 62 pos. == = | ] 15 - 62 pos.
|
4-40 UNC wole 4-40 UNC \ N ml t W’d
L—l—J g7 %{‘? 1002 e %9 m
2o |8 8023 Sl e 8,2310%
o |G P
()
[ﬂ] s D%] RUBBER GASKET
PLACED ON TOP SURFACE
4-40 UNC 4-40 UNC OF MALE INSULATOR
il
78 pos. 78 pos.
w0 +0,23
&5 1085:3% 111558
o]
S

ORDER DATA

4-40 UNC threaded insert including hex locking bolt

IP67 for harsh environments, pressure-proof up to 1.45 PSI

DESCRIPTION

m  Suitable for wire size AWG 22

m  Mounting style:

m  Quality class 3 (also available in quality class 1)
m  One-piece zinc die-cast nickel plated shell

]

m  Higher protection on request

SOCKET CONNECTOR

No. of pos. Mounting style 4-40 UNC

15
26
44
62
78

Vel | Hel
\\ll~ =

8|20

Threaded insert
Threaded insert
Threaded insert
Threaded insert
Threaded insert

Part Number

15-000693
15-000703
15-000713
15-000723
15-002123

PLUG CONNECTOR

No. of pos. Mounting style 4-40 UNC

15
26
44
62
78

Threaded insert
Threaded insert
Threaded insert
Threaded insert
Threaded insert

Part Number

15-000653
15-000663
15-000673
15-000683
15-002113



IP67 D-SUB CONNECTORS

IP67 D-SUB HiGH DENSITY SoLiD Boby

Solder pin — Straight — Precision machined contacts

DESCRIPTION
m  Mounting style:
4-40 UNC threaded rear spacer with PCB clip
including hex locking bolt

m  Quality class 3 (also available in quality class 1)
m  One-piece zinc die-cast nickel plated shell
m P67 for harsh environments, pressure-proof up to 1.45 PSI
m  Higher protection on request
RoHS compliant - UL listed, File No. E202784
SOCKET CONNECTOR PLUG CONNECTOR
No.of pos. A B2'0, C D c No. of pos. A B1 [¢ D E
B2 15 39.40 ‘9% 1646 2500 ‘g1 2110 °° B1 15 39.470% 16.81 752 25.007013 211 °5° 6.00°01%
26 4770 9% 2479 3332 95 2110 9P 26 4777030 2514705333275 211707 600701,
44 6140 "5 3850 4704 :os 2110 [ 44 6147030 38,86 02 47.04+013 211757 59970,

+030

e
7 ‘r N\ 62 7800 "J3 5496  63.50 o1z 2110 19° N\ 62 78073 5532702 6350013 21.1 %% 59970,
o3 o o3 e “on Sou o3 o
(ﬁ\ o'o'cm ,fmw 78 7560 "oy 5255 6110 Toy 23.90 [y, p e - 78 75.6 010 5280701 61.10701 23.9 707 59970,
a G-\\-oevee O ) = A WAV (I :
osee) PCB-Layout: Kat1iT9A PCB-Layout: KatTiUOA
) J

10

¥
3
Es
+-
+
ES

0,65
SEALING

—WHE l/ COMPOUND
|

]15 - 62 pos.
“’] [
0138 / L] e

[%] - ﬁ] RUBBER GASKET
PLACED ON TOP SURFACE
4-40 UNC 4-40 UNC OF MALE INSULATOR

78 pos. [ I7spos

SEALING

(AR i P COMPOUND
O-RING r@ ‘

]

4-40 UNC !

86134
11,5494
3,6+9%
3,619%

0
=y
&
S
5
9
]
@
. :
A
(=]
c
Z
9]
+0,4
8,653
404
11,5%3
0,4
03

12,234

12,1324

017
6,13*3%8

2 10,8519% 11358
&
ORDER DATA

SOCKET CONNECTOR PLUG CONNECTOR

No. of pos. Mounting style 4-40 UNC Part Number No. of pos. Mounting style 4-40 UNC Part Number

15 Threaded rear spacer PCB clip 15-000533 15 Threaded rear spacer PCB clip 15-000493

26 Threaded rear spacer PCB clip 15-000543 26 Threaded rear spacer PCB clip 15-000503

44 Threaded rear spacer PCB clip 15-000553 44 Threaded rear spacer PCB clip 15-000513

62 Threaded rear spacer PCB clip 15-000563 62 Threaded rear spacer PCB clip 15-000523

78 Threaded rear spacer PCB clip 15-002183 78 Threaded rear spacer PCB clip 15-002073

PCB clip .122"/3.1 £.004"/0.10 mm hole diameter and .063" /1.6 mm circuit board thickness

CONEC® 8|21



IP67 D-SUB CONNECTORS

8|22

IP67 D-SUB HiGH DENsITY SoLib Boby
Solder pin — Angled - .362"/9,2 mm — Precision machined contacts — Metal bracket

RoHS compliant - UL listed, File No. E202784
SOCKET CONNECTOR PLUG CONNECTOR
A ) A
c No.of pos. A B2'0, C D o No. of pos. A B1 [¢ D E
B2 15 39.40 ‘9% 1646 2500 ‘g1 2110 °° B1 15 39.470% 16.81 752 25.007013 211 °5° 6.00°01%
26 4770 ¥ 2479 3332 °00 2110 PP 26 4777030 2514705333275 211707 600701,
44 6140 "5 3850 4704 :os 2110 [ ' ; N 44 61.4 7020 38.867 0oy 47.042013 21,1797 59975,
62 7800 "J3 5496  63.50 o1z 2110 19° (( m 62 78073 5532702 6350013 21.1 %% 59970,
a 78 7560 "5 5255 6110 (3N 23.90 '3 a & ‘;}'}Q}: e 78 756°0%52.80°0% 611070 239 "%} 59973,
s
= .
PCB-Layout: Kat1kHRA PCB-Layout: Kat1kHQA
o
407
303 3,14x03
L‘g. 8,35:03 6,35x03
=
iSY
fr ) SEALING ==\ ~SEALING
E; 1A DU A (&) 313 L =3 I| / COMPOUND @ (&) 32 =3 “1} /COMPOUND
3% ; | 35 ;
O-RING o ) O-RING @ Lk
= ! == 9 =N ‘ == ¢ |
=zm @ ] - I 15 - 62 pos. =19 ] = | ]15 - 62 pos.
440 UNG ! O I IR P 4-40 UNC i .. 3z|3gle
2999 2999 e 4002 3999 Ylalse
A A 8'd% kg Sk 825"
so| -z = o l3s Ba =
()= 76 pos 2 - RUBBER GASKET
= 03 ()=78pos PLACED ON TOP SURFACE
4-40 UNC 288"z 440 UNG OF MALE INSULATOR
7.5%03 2,93?8’3
7,5203
— TN
= [ M
<9138 i I ; { )
2°
g8 o Bl ==
—- | < R EX il 1] |1
- 78 pos. 218 (=
- | <
33|32 - 78 pos.
Elole etk |2z
= 2. 9199
= & Ty 11,1498
= =
ORDER DATA
SOCKET CONNECTOR PLUG CONNECTOR

No. of pos. Mounting style 4-40 UNC

15
26
44
62
78

PCB clip .122"/3.1 £.004"/0.10 mm hole diameter and .063" /1.6 mm circuit board thickness

Vel | Hel
\\ll~ =

DESCRIPTION

m  Mounti

ng style:

Mounting bracket, 4-40 UNC PCB clip
including hex locking bolt

Quality class 3 (also available in quality class 1)
One-piece zinc die-cast nickel plated shell
IP67 for harsh environments, pressure-proof up to 1.45 PSI
Higher protection on request

Part Number

Mounting bracket/PCB clip 15-002243
Mounting bracket/PCB clip 15-002253
Mounting bracket/ PCB clip 15-002263
Mounting bracket/PCB clip 15-002273
Mounting bracket/PCB clip 15-002283

No. of pos. Mounting style 4-40 UNC

15
26
44
62
78

Mounting bracket/PCB clip
Mounting bracket/ PCB clip
Mounting bracket/ PCB clip
Mounting bracket/ PCB clip
Mounting bracket/ PCB clip

Part Number

15-002193
15-002203
15-002213
15-002223
15-002233



IP67 D-SUB CONNECTORS

IP67 D-SUB HiGH DENsITY SoLib Boby
Solder pin — Angled - .484"/12,3 mm — Precision machined contacts — Metal bracket

DESCRIPTION
m  Mounting style:
2 Mounting bracket, 4-40 UNC PCB clip
including hex locking bolt
m  Quality class 3 (also available in quality class 1)
m  One-piece zinc die-cast nickel plated shell
m P67 for harsh environments, pressure-proof up to 1.45 PSI
m  Higher protection on request
RoHS compliant - UL listed, File No. E202784
SOCKET CONNECTOR PLUG CONNECTOR
c No.ofpos. A+03 B2 9, (o c No.of pos. A+03 B170,s C D E
15 39.40 1646 2500 ‘22 15 3940 1681 250055 21.10°% 6.00 0e
B2 26 47.70 2479 3332’03 B1 26 4770 2514 333297 21.10'°% 60050
44 61.40 3850 4704 =on i ~ 44 6140 3886 4704:0132110°% 59977,
f(( ; w\ 62 78.00 5496  63.50 :om (( 62 7800 5532 63.50:01 2110'% 599°%
%o SOI0I0 » . Fo S AAAANG IO - :
= - Qovee) PCB-Layout: Kat1kGQA o O\ e 1O PCB-Layout: Kat1kGRA
o g
o / \ /
° A0
Q’_‘ 3,303 3,3x03
6,35+03 6,35+03
2
8 7 = S |
¢ ﬁ‘\ i TER)  ~SEALING G i) o 1ER)  SEALNG
i ‘ 32|33 23| <0 E COMPOUND R 1238 3%|se COMPOUND
O-AING mi |l E RS ) / OAING AL S EGIES il /
‘ alm|eld ==H| A\ J =] L Ae==N
R - ] = o | - [ |
Sy
4-40 UNC | zole 4-40 UNC | I 33|18, “"[ mmd
MEL o1 g5 [ [ezne
ﬂ] 2 [B] RUBBER GASKET
© PLACED ON TOP SURFACE
4-40 UNC 4-40 UNC OF MALE INSULATOR

ORDER DATA
SOCKET CONNECTOR PLUG CONNECTOR
No. of pos. Mounting style 4-40 UNC Part Number No. of pos. Mounting style 4-40 UNC Part Number
15 Mounting bracket/PCB clip 15-000933 15 Mounting bracket/PCB clip 15-000893
26 Mounting bracket/PCB clip 15-000943 26 Mounting bracket/PCB clip 15-000903
44 Mounting bracket/PCB clip 15-000953 44 Mounting bracket/PCB clip 15-000913
62 Mounting bracket/PCB clip 15-000963 62 Mounting bracket/PCB clip 15-000923

PCB clip .122"/3.1 £.004"/0.10 mm hole diameter and .063"/1.6 mm circuit board thickness

CONEC® 8|23



IP67 D-SUB CONNECTORS

8|24

IP67 D-SUB STANDARD

Interface adapter — Connector Saver

DESCRIPTION
m  Plug to socket adapter
m  Mounting style:
4-40 UNC threaded rear spacer including hex locking bolt
m  Precision machined contacts
m  Quality class 3 (also available in quality class 1)
m  Shell: Brass tin plated
m  Nickel plated die-cast frame
RoHS compliant - UL listed, File No. E202784
PRODUCT DRAWING
L No.of Pos. A-076  Bl.o2s B2+02s C D +03
A 9 3119 16.46 1679 2500 ‘95 39.40
—B 15 3952 24.79 2512 3330 ‘5 4770
25 53.42 38.50 38.84 4704 =013 61.40
37 69.70 54.96 5530 63.50 013 77.90

4-40 UNC

:

i F

0-RING [Em
l

ORDER DATA

i
L

1

SEALING COMPGUND

ADAPTER PLUG CONNECTOR - SOCKET CONNECTOR

No. of pos. Mounting style 4-40 UNC

09 Threaded rear spacer

15 Threaded rear spacer

25 Threaded rear spacer

37 Threaded rear spacer
SONEC®

Part Number

6STDO9AAAI9BIOX
6STDT15AAA99BIOX
6STD25AAA99BI0X
6STD37AAA99BI0X



IP67 D-SUB CONNECTORS

CONVERSION TABLE

um pinch mm inch mm inch mm inch mm inch mm inch
1/1000 mm  1/1000 inch
0,10 4 330  .130 1016  .400 19,50  .768 3090 1217 49,50 1.949
0,20 8 3,40 134 1026 402 1970 776 31,00 1220 49,90 1.965
025 10 350 .138 1036 406 19,80 780 3120 1.228 50,0 1.972
8@8 2‘(2) 360 142 1056 413 1990 .783 31,50 1.240 50,30 1.980
070 %8 370  .146 1066 417 20,00 .787 31,70 1248 50,50 1.988
075 30 3,80 .150 1076 421 20,00 791 32,00 1.260 50,70 1.996
080 32 3,81 150 11,00 433 2030 .799 32,20 1.268 50,80 2.000
1.00 39 390 154 1120  .441 2032 .800 3230 1272 5140 2.024
127 50 400 .158 11,40 449 2050 .807 32,50 1.280 51,50 2.028
2,00 79 410 161 11,50 453 2100 827 32,80 1.291 52,00 2.047
2,50 98 420 165 11,60 457 2110 831 33,00 1299 52,30 2.059
2188 :;? 430 169 11,90 469 2170 854 3310 1303 52,80 2.079
500 197 450 177 1200 472 22,00 .866 3330 131 53,00 2.087
' 470 185 1220 480 22,10 870 33,80 1.331 53,20 2.095
mm inch 490 193 1230 484 2220 .874 34,00 1339 53,80 2.118
500 .197 12,40 488 2230 878 3420 1346 5400 2.126
010 .004 508 200 1250 492 2240 882 34,40 1354 5420 2.134
020 .008 510 201 12,70 500 22,50 .886 3500 1378 5490 2.161
025 012 520 205 1290 508 22,60 .890 3540 1394 5500 2.165
035 014 530 209 13,00 512 22,80 .898 3550 1398 5540 2.181
040 016 540 213 130 516 22,86 .900 35,56 1.400 5570 2.193
045 018 550 217 1320 520 22,90 902 35,60 1.402 56,60 2.228
050 020 560 220 13,50 532 23,00 .906 36,00 1417 5740 2.260
055 022 570 224 13,60 535 23,0 909 36,50 1.437 5780 2.276
060 024 580 .228 13,70 539 2330 917 36,60 1.441 5790 2.280
064 025 6,00 236 13,90 547 2350 .925 36,70 1.445 5842 2.300
065 026 610 240 1400 551 2400 .945 3700 1457 59,00 2.323
070 028 6,40 252 1430 563 2430 957 3730 1.469 59,20 2331
075 030 6,50 .256 1440 567 24,60 969 3750 1476 59,80 2.354
080 .032 6,60 .260 1450 571 2490 .980 3760 1480 59,90 2.358
085 034 6,70 264 1470 579 2500 .984 3770 1484 60,00 2.362
090 035 6,80 .268 1480 583 2510 .998 3790 1492 60,96 2.400
1,00 .039 6,90 272 1490 587 2540 1.000 38,00 1.496 6110 2.406
120 .047 700 276 1498 590 25,60 1.008 38,10 1.500 62,00 2.441
125 .049 710 280 1500 591 25,90 1.020 39,00 1535 63,00 2.480
127 050 720 283 1520 598 26,00 1.024 3920 1.543 63,50 2.500
130 051 740 291 1524 600 26,30 1.035 3930 1547 64,00 2.520
135 .053 750 295 1540  .606 26,60 1.047 39,90 1571 65,00 2.560
140 055 760 299 1550 610 26,70 1.051 40,00 1575 6700 2.638
145 057 762 300 1560 614 2700 1.063 4030 1587 68,00 2.677
150  .059 770 303 1590 626 2720 1.071 40,40 1.591 69,00 2717
1,60 .063 780 307 1600 .630 2740 1.079 40,60 1.598 70,00 2.756
1,70 .067 798 314 1620 .638 2750 1.093 4100 1614 71,00 2.795
1,80 071 800 315 16,50  .650 2790 1.098 41,60 1638 74,00 2913
1,85 .073 818 318 16,60  .654 2794 1.100 42,70 1.681 75,00 2.953
1,90 .075 820 323 16,80  .661 28,00 1.102 4318 1.700 76,20 3.000
2,00 .079 830 327 1700  .669 2820 1.110 4420 1.740 7700 3.032
2]0 .083 840 331 1720 677 2850 1.122 44,80 1.764 78,74 3.100
220 .087 850 335 1730 681 28,70 1.130 45,80 1.803 80,00 3.150
230 .09 860 .339 1750  .689 29,00 1.142 4630 1.823 81,28 3.200
2,40  .095 890 350 1760 693 2920 1.150 46,70 1.839 84,00 3.307
2,50 .098 9,00 354 1770 697 2940 1.158 4700 1.850 85,00 3.346
2,54 100 910 358 1778 700 29,50 1.161 4720 1.858 86,36 3.400
2,60 102 920 362 1780 701 29,70 1.169 4730 1.862 88,90 3.500
2,70 106 930 .366 1790 705 29,90 1.177 4750 1.870 90,00 3.543
2,80 .10 940 370 18,00 709 30,00 1.181 4780 1.882 9144 3.600
2,84 12 950 374 1810 713 3020 1.189 48,00 1.890 94,00 3.701
290 114 960 378 1830 721 30,40 1.197 4810 1.894 95,00 3.740
300 118 970 382 18,60 732 30,48 1.200 48726 1.900 100,00 3.937
310 122 990 390 19,00 .748 30,50 1.201 48,80 1.921 110,00 4331
320 126 1000 395 1920 756 30,80 1213 4910 1933 120,00 4.724

CONEC® 8|25



IP67 D-SUB CONNECTORS

IP-CODE FIGURE DEFINITIONS

1. Code figure  Definition Remark

0 Not protected

1 Protected against access to hazardous parts by the back of the hand.
Protected against fixed foreign objects @ = 1.969"/50 mm.

2 Protected against access to hazardous parts with a finger.
Protected against fixed foreign objects @ = .492"/12.5 mm.

3 Protected against access to hazardous parts with a tool.
Protected against fixed foreign objects @ = .098"/2.5 mm.

4 Protected against access to hazardous parts with a wire.
Protected against fixed foreign objects @ =.039"/1 mm.

5 Protected against access to hazardous parts with a wire. Ingress of dust is not completely blocked. But dust
Dust protected. may not penetrate to the extent that satisfactory

operation of the device or safety is impaired.

6 Protected against access to hazardous parts with a wire.
Dustproof. No ingress of dust.

2. Code figure  Definition Remark
0 Not protected
1 Protected against dropper.
2 Protected against dropper when the shell is tipped as much as 15°.
3 Protected against spray water Up to 60° of either side of the vertical, such spray

water shall have no harmful effects.

4 Protected against splash water On the shell from all directions, no harmful effects
shall be incurred.

5 Protected against jets of water.

6 Protected against strong jets of water.

7 Protected against the effects of temporary submersion in water. Water may not ingress in a volume that would cause

harmful effects when the shell is submerged in water
for 30 min at a depth of 1 m.

8 Protected against the effects of continuous submersion in water. Water may not ingress in a volume that would
cause harmful effects when the shell is continuously
submerged in water under conditions agreed between
manufacturer and user.
However, these conditions must be more stringent
than those described under code figure 7.

9k Protected against water from high-pressure or steam cleaning.

Explanation to spray water protected (IP) systems and their environment.
This system, described in IEC 60529, was developed to represent standard values for respective protection:

a) Contact with, and ingress of, fixed foreign objects
b) The ingress of liquids to which the inside is to be exposed.

The first digit describes the level of protection for life, contacting objects and the intrusion of foreign bodies. The second digit describes the level of protection against
the ingress of liquids. The larger the first and second digits are, the greater afforded protection is, e.g. IP55 must also meet the requirements of all lower protection
levels, such as IP22, IP23, IP34 and IP54.

8126 COMNEC®



IP67 D-SUB CONNECTORS

TECHNICAL DATA

Insulator Polyester GF UL94 V-0
Contacts CU alloy

Contact plating Gold plated over nickel
Shell Brass tin plated (Standard)

Stainless steel on request
Test voltage U eff/NN 1000 V

Working voltage 125V = 60V =
depending on isolation coordination (refer to DIN VDE 0110/IEC 664-1)

Current rating 75 A (UL) /5 A (CSAVDE) 3 A(ULVDE) /2.5 A (CSA)

Contact resistance max. 10 mQ prior to stressing, A R max. 10 mQ after stressing
per DIN 41652, Part 2

Insulation resistance >5G0Q
R _ > | " .

Clearance and creepage distance contact — contact 04"/1.0 mm > 024'/0.6 mm
contact — earth >.047"/1.2 mm

Operating temperature -25°Cto+105 °C

Mating and unmating forces 9pos. < 30N 15pos. < 50N
15pos. < 50N 26pos. < 84N
25pos. < 83N 44 pos. < 120N
37 pos. < 123N 62 pos. < 170N
50 pos. < 167N 78 pos. < 200N

Quality class A = Quality class 3= 50 mating cycles

B = Quality class 2 = 200 mating cycles
C =Quality class 1 =500 mating cycles

D-SUB Water Resistant 120°C 120s 240°C 5s

D-SUB Solid Body Type Water Resistant 150°C 180s 265°C 8s

Technical specifications are subject to change without notice.

CONEC® 8|27



IP67 D-SUB CONNECTORS

MATING CONDITIONS

Float mount tolerance guide Rigid mount tolerance guide

206

I Rigid mount vertical to tolerance guide

59bis7 |

PANEL cuT-oUT

Rear panel mounting IP67 D-SUB Connectors Front panel mounting IP67 D-SUB Connectors
[=Tozs]a A o
0, B S
=" & % &
cJ 7 =
;‘ Yy
o - I
9. ;A o \ z
253 < g g C
3 {a] 2 £3 Al =
b 3|
[ gs m
Shell size A0l B :01 C :01 D :01 E 01
1 2050 2090 25.00 11.40 13.00
2 28.80 2920 3330 11.40 13.00
3 42,50 42,90 47.04 11.40 13.00
4 59.10 59.40 63.50 11.40 13.00
5 56.30 57.00 61.10 14.10 15.80

828 COMNEC®



IP67 D-SUB CONNECTORS

PCB LAYouT D-SUB STANDARD
Solder pin, straight — without rear spacer PCB clip — Plug and Socket connector

9 pos. 37 pos. 24 8420.1
5.4910.1 22.1:0.1
274104 3 19.33:0.
~ 16.56:0.
$—06-9-0-0 13.82:0.1
B 1.05:04
ordl 9y §.28:0.1
1.37+0.1 S.5410.1 E
2.77:01 &
£.1120.1 o~
4-04-0-0—4-0—4-4—0— '
15 pos. G—0-¢-f—9-$—0-6--0 40 -0-
o3 37x
9.610.1 1420
6.8610.1 & 14201
6.9120.1
4.1120.1
% 9.6810.1
1.37:0.1 ;; 12,6210
™~
b th b oo 4 15.1920.1
A A 4 4 §
b -0-¢ 17.96101
o8 (15x) 20.7401
23.4720.
2.741041
5.4910.1
8.2310.1
50 posS. 22,1204
19.3320.1
25 pos.
16.5640.1
16.5610.1
13.8210.1
13.82:01
11.0510.1
11.0520.1
8.2810.4
8.2810.1
5.5410.1
5.5410.1 s
b 27701 3 3
2.717+01 3 < 8
o~ wn
446006000909
06 0060 > & b0 -00-6-00 ¢ &
-0 fH-0-610 004 4 L R AR an R g
o151 (25x) ordl(sox
1,401 14201
414101 4 14201
6.9120.1 6.9120.1
9.6810.1 9.6810.1
12.42+01 1242101
15.1920. 15.19:0.1
17.96201
20.7401

PCB layout Kat1kFVA (View: component side)

CONEC® 8|29



IP67 D-SUB CONNECTORS

8|30

PCB Lavout D-SUB STANDARD

Solder pin, straight — With rear spacer PCB clip — Plug and Socket connector

9 Pos.
5.4910.1
3| S
274104 &l 2
3 =
- o~
th—oh
$ ¢ P& 7’
-t
&
21
ety iox H 316041 {2x)
13701
£.11+01
2518
15 pos.
9.6201
6.8610.1
411201
13704 gl 3
| o~
P
\t/ o0 —0-0—6-¢
0.1
1g" {15x) $3.1:04 {2x}
2.74104
S.4910.1
8.23201
3IgF
25 pos.
16.5620.1
13.82104
11.0520.1
8.28:0.1
5.5410.1
2.77s01 3 3
< ™
|
FE e R R
40 H-o9 4
9.1
1" {25x) $3.10.1 {2x)
1.4201
414201
6.91:0.1
9.6810.1
12.4240.1
15.1920.1
47.04e0.13

PCB layout Kat1kFUA (View: component side)

CONEC®

37 pos.
24 84100
22.110.1
19.33:01
16.5610.1
13.82:0.1
11.0520.1
8.2810.1
5.54201 sl =
¢ <
2.77s01 3 =2
- o~
PN o o o g -
Y a4 453433 p
o13137) 23.1:01 {2x)
14e0.1
[RYA
6.9120.1
9.68:0.1
12.42201
15.19201
17.96+01
20.710.0
23471201
63.5:0.13
50 pos. 2L
19.33201
16.5610.1
13.82£0.10
11.0520.1
8.28:0.1
5.5420.1
2.77501 § s
l i
w
9000096999 99
D— 6604040904409 06-0—
+¢¢H¢¢¢¢-¢¢¢¢¢¢¢¢
o150
Tq 150x) $3.110.1 {2x}
1.410.1
& 1hed1
£.9120.1
9.6820.1
12.4: 2201
15.1920.0
17.9620.1
20.7:01
gl




IP67 D-SUB CONNECTORS

PCB LAavouTt D-SUB STANDARD
Solder pin, angled, .189"/4.8 mm - Plug and Socket connector

. +0.12
9 pos 252013 37 pos.
63.5+0.13
5.49:01
274201 2484201
+0.1
R 221504
$3.1:04 (2x) 19.33:04
wn
- 16.5620.1
5l Fany 13.82:0.1
" ATND cad
& - 11.05204
N s | 105201
FRONTPANEL 3| & 8.2820.1
137204 al o~ y | 8.28:01
oty 1374 554201
411201
$3.0:01{2x) 277504
15 pos. ors
20, "
33391 A
9,650 G- o—-$—0--—d-¢ - -0
I s PPN £
6.8620.1 &
o s
4,110 FRONTPANEL B Ll 5 2
FAS
13704 14401 ~
o113 (15] L0
$3.150.1 (2) 6.91:0.1
Pl 9.68+0.1
"
bl o 12.42:04
I A A4
$obbo 1e8
@ P.C.B. EDGE 15.19:04
EN S
FRONTPANEL [ [ | [ . . _ 3 2 17.96201
274201 RIS
o~ 20.7s01
5.49:01
23.47:04
8.23+0.1
50 pos.
e1ed
22.150.1
25 pos.
19.33:0.1
16.5620.1
47042013
13.82:0.1
16.5620.1
11.0520.1
13.82:01
8.28:01
11.05:01 ot
19" 50%) 550501
+0.1 5420,
PUy (25x | gossns
$3.1:0.1 (2x) 2.77:0.1
5.54+0.1 -
™
$3.1:01 {2x] 27701 * N bbb
" ¢ 49—
= o pLB. FRE o= 401 d b1 4o T4 _
- & ﬁ;\ & :L¢A' . Fany = p E
- Nb R Y TR YR FRONTPANEL _ ) 1 s 3 <
I _ Al o«
EN S 1401 o~
FRONTPANEL__ I | &
14204 Al 414501
<
414201 6.9120.1
6.91:01 9.6820.1
9.6810.1 12.42201
12,4220 15.1920.1
15.19:01 17,9601
20.7:0.1

PCB layout Kat1kGSA (View: component side)




IP67 D-SUB ConN

PCB Lavout D-SUB STANDARD

ECTORS

Solder pin, angled, .276"/7.0 mm - Plug and Socket connector

9 pos.
+0.12
255915
5.49:0.
274201
2131 19x)
$3.1:01 (2}
«
2 &
3
N R
¢
o P.C.B. EDGE =
g
b 3| &
FRONTPANEL sl
137201 =
411200
3.33F
15 pos.
9,650,
6.86:01
411201
137201
ord! (15
#31:0.1 (2x)
i
2 & & b
LA A 4
1l & b o
P
0 P.CB. EDGE =
3 <
= S| @
FRONTPANEL KIS
274201 h
5.49:04
8.23:01
6704203
25 pos.
1656204
13.82:0.
11.0520.1
213" 1250 | gogeos
55420
#3.1:0.1 (2x) 277201
wn
8
- b —4-o—b-4
& i) b & m
gkt anan ka4 A
w0 P.C.B. EDGE -
5 <
= S| @
FRONTPANEL IR
14500 -
414101
6.91:0.1
9.6820.1
12.42:041
15.19:0.1

PCB layout Kat1kGTA (View: component side)

8|32

o

63.5¢0.13
37 pos.
2484101
22.1:0
19.33:01
16.5620.1
13.82:0.1
11.05+0.1
8.28:0.1
#1337 554201
$3.120.1 (2x) 2.77:01
"
2 bbb bbb b b
AEh e P Po-¥
S - —b— b ﬂl
e e Al o s A
0 P.C.B. EDGE =
= = 3
I
FRONTPANEL 53 RN
<
14201
414401
6.91:0.9
9.68:0.1
12.42+01
15.19+01
17.96+01
20.7:01
23.47+0.1
o180
50 pos. o
22,1501
19.33401
16.5620.1
13.82:01
1105201
8.28+0.1
o118 (50x) 554501
3.1:04 (2x) 2.77:01
g & b b PP l
2 ¢ P -o—¢ A4
PENEP: N N ;N N .Y
PP P99
&b Db - Sl dldLa|-bldl-d
A A G PRI TE T ® -
m k1
g P.C.B. EDGE 3 3
| 3 0«
sl 2
FRONTPANEL S RN
<
1440
414201
6.91:0-1
9.68:0.1
12.42:01
15.19:0.1
17.96+0.1
20.7:01




IP67 D-SUB CONNECTORS

PCB LAvyouTt D-SUB STANDARD
Solder pin, angled, .464"/11.8 mm — Plug and Socket connector

47.04:0.13
9 pos. 25 pos.
1656201
252 13.82:0.
5.49:01 L
o137 (25x) X
274201 2 8.28:0]
o131 (9x) 5.54:0.1
#3101 (2%) $3.1:01 (2x) 2.77201
" 464
ﬂ P " ¢4 4-o¢
m - ~ -
D ¢ 4 3 & 4 3
2% a3
“ P.LB. EDGE @ @ P.CB. EDGE e
& =
FRONTP ANEL| FRONTPANEL
137201 14501
L4100 L4501
6.91:0.1
9.68:0.1
12.42:01
15.19:04
15 pos. 37 pos.
63.5:013
2684201
22101
33397
19.33s01
9.6:0.1
16.56:0.1
6.86201
13.82:0.1
411204
11,0520
137204
o181 115x) 3280
o131 37x) 554201
$3.1:0.1 (2x)
$3.1:0.1 {2x} 2.7720.0
& $--¢ & b & b b0-& l
" Y Y Y Y Y ¥ Y Y Ad
A -4 0 o A
- m
Al 2 slos
4 9 3 @ g
Q P.CB. EOGE 2 " P.CB. EDGE s
o o~
&
FRONTPANEL __ FRONTPANEL . L J _
274201
14201
5.49:04
414201
8.23:01
69101
9.68:01
12.42201
15.1920.1
17.96201
20.7+01
23.47201

PCB layout Kat1kGUA (View: component side)

CONEC® 8|33



IP67 D-SUB CONNECTORS

PCB rLavout D-SUB HiGH DEeNsITY

Solder pin, straight — without rear spacer PCB clip — Socket connector

15 pos.
10.28720.05
2.28620.1
14643204 5.46120.
/_1
od
#0.9°8" 115%) - 3
2 R
g <=
26 pos.
19.43120.05
2.286201
116320
9.77920.1 1
¢ 9-0-0 3’
.:'.vcv —=v=v=
0.5} (26x) - =
3 2
g ¢
44 pos.
331472005
2.28620.1
194320
16637204 :
o:;o:cvetew{ -0-9-0-8-0-0
#0937 144x} - 3
- [--]
g e
L)

PCB layout Kat1kGDA (View: component side)

8|34

o

CONEC

62 Pos.
49.4672005
2413200
1.20720.1
2475220 /_1
©-090-00 800 ccce—ecacaa’
0 -0-0-00-0-0-00-9-0-0 0—0-0—0- 0
4060000000 090 0600-900—
00573 (62x) - 2
0 < .4
@ =
@
78 pos.
45.84720.05
2.413:01
120720
22.924204
1
96000000 ¢-00-0 0000000
*0-00- o0 -3 OB 0C90-00-00
PP AP
0 0-60-000000H00600-006-00 =
b
- %
00.97%7 (718x) - 3| &
g -~
q o~
La']




IP67 D-SUB CONNECTORS

PCB LAyout D-SUB HIGH DENSITY
Solder pin, straight — With rear spacer PCB clip — Socket connector

15 pos. 62 Pos.
102872005 494672005
2.286:0.1 546120 2413101 6.998:0.03
1163104 7.039:003 1.207:01
©$3.120.0 {2x) 931101 (2x) 24752201
1 1
/- /-
P, 0000060066000 0000 00
03 -6 o -00-0—0-90-906 H -0—0- 600 00-6-0
oo0-dog a—a—o—e—o—o—&o—o-ﬁ 000000000
205" 5%} -l 3 0.5 l62x] - 3
s & s &
2502 & - g -
1013 = 63.5:013 Z
26 PoS.
78 Pos.
19.63120.05 458472005
2.286201 68712003 2413201 1.626:003
1207104
1043204
$3.1:04 {2x} 22.924201
$3.1201 {2x] M0y | 1
00 9-0-9- 3’
e —D S 253
01 pe ° - 3
#0.9p" (26x) 3| 2 20.5°3" (78x) - 2 &
XA g - 9.3 gl < -
=01 6115 N
44 pos.
331472005
2.28620 6.883:0.03
114320
#3.1201 {2x) o 1663720 .
D
\NP
0.9 s
80.9°3" {44x) H‘_ <| 2
— 3 =
47.0420.93 =

PCB layout Kat1iT9A (View: component side)

CONEC® 8|35



IP67 D-SUB CONNECTORS

PCB LAyout D-SUB HIGH DENSITY
Solder pin, straight — Without rear spacer PCB clip — Plug connector

15 pos. 62 pos.
10.28720.05 49.46710.05
2.286201 2413201
1143209 1207201
1_\ 4.826201 1 24714201
B0 PO ©0-0000000000000-00000
&-0-01-0-0 >0—0-00-00 0000000000660
sp-o-o -9-00-00-00-00 000000000
»0.1 b= -
20.9°3 (15x) sl & #0.9'0" 162x) s 3
g = g -
26 pos. 78 pos.
19.43120.05 45.84720.05
2.286120.1 2.41320
114320 1207200 |,
I ‘I_\ 9.65210. 1\ 22.92410.
0-0-0—p-0-0-0 G10-0-00- 00000100000 00-0-0¢
0060600000 -0—0- 00 00 00— 00 0—0-0—0-0—0
©-0—0-p0-0-0 9 0-90-00-0000-0/0-900000600
¢0-9:8'1 (26x) - 3 ©-0—0-00 009 900 00-00-006— - ;]
3 & 0.9°0" 178x] -l 3| &
x| - g B ~
- S ~
~

44 pos.
33.14720.05
2286201
1143201
1\ 16.5120.1

0.9:3" (64x)

1.9820.

1.9820.1

PCB layout Kat1kFWA (View: component side)

8|36 COMNEC®




IP67 D-SUB CONNECTORS

PCB LAyout D-SUB HIGH DENSITY
Solder pin, straight — With rear spacer PCB clip — Plug connector

15 pos. 62 Pos.
10.28720.05 49.46720.05
2.28620.1 7.674120.03 2.41301 7.03620.03
|
143201 4.82620.1 1207201
1_\ 33,1201 (2x) 1_\ 24714201 $3.1201 (2x)
) opoe— % O se-eoo00 v.;%h TS ;:. o e-ss oo | 2
$0.9°9" (15x) - 3 20,5997 {62%) - 3
2 & % &
x - © =
XA b §3.5:013 3
26 pos. 78 Pos.
19.63120.05 45.84720.05
2.286204 6.9982003 2413201 7.626:0.03
1143201 1207201
1_\ 9.652:0.1 93120 {2x) 1 22924101 ©3.1:0.1 (2x}
800 0 \tiscce—ee—e-
P—-ob-e0e0e00-—] _ _$0-0000e0-0
o0-0-o P oo 00000 O O00-&
¢0.9:8'1‘26x) - s O—0-0-0-0-0-00-0 - %
3 &8 #0.9:0" 178xI sl 2| 8
EER MY e T 3l g ~
3 z <
et g
44 pos.
33.14720.05
2.286:04 7.0120.03
114320
1\ 16.5110.1 931201 {2x)
A °-0-o .*_ —
o €-090-00-9 000 @
0.1 ]
20.9°3" (44x] - 2
i %
4,7.0520.13 =

PCB layout Kat1iUOA (View: component side)

CONEC® 8[37



IP67 D-SUB CONNECTORS

PCB LAavout D-SUB HIGH DENsITY
Solder pin, angled, .220"/5.6 mm - Socket connector

+0.12
15 pos. 250013 62 POS.
10.28720.05 63550
2,28|6¢0.1 49.4,67:0.05
1143201 7.039:003 5.998:0.03
5.4,6150.1 2.413s01 26752501 $3.101 {2x]
|
$3.1:0.1 (2x) 1 1207204 /1_
R a 5
© D0 - ¢ L B0 S S dht S S S0 2 &
g o o === b4~
& ©40-0 N RARARARARANAARARARAAN NP
d ¢¢ Q@ '&'ﬂ' - PCBEDGE‘I’YYYYYYYY AR AR A 2 A0 A 4 2 A 4 -
n P.C.B. EDGE = S — -l 3
@ -l 3 e 3| @
s 3 & FRONTPANEL 3l 7 °
FRONTPANEL sl # 01 a7
i 20.9:3" 162x) m
2093 (15x) ™
26 pos. 13325 78 pos.
19.431:0.05 5“:3:#
2.286:01 45.847:005
114350 6.87150.03 76262003
$3.1:0.1 (2x) 9779:0.4 | 1 2413201 22.924 $3.1:0.1 (2x)
|
2 —0—d 60— 1207201 1
@ -0 -4-5-0-0-0
) ©-9-9-10-0-0-0 < [
D e AAAAAAAARAAAAAY
P.C.B. EDGE 3
£ -l = 4 U AARANRA ARARNAAINANINN S
< = ~ A PP PP RPIIPIPIIOO?
= ERONTPANEL 3z e N N 3
- \ -
- 2 4 ! P.CB. EDGE 13 E
#0925 (26x) m 3 4
0 FRONTPANEL g 7
AR
~”
90973 (78x) m
44 pos.
47.0430.3
33.147:0.05
2.28620.1
]
1143201 £.88320.03
$3.1:0.1 {2x) 16.63720.1 1
wn
£y )t Ot Dt
@ I ~4-0-0-0-6-01-0-6-0-0—4-0-0
N 0005~~~ 0 1
o P.CB. EDGE b
= = ~3
=4 [
FRONTPANEL =
IS
0.9 (b4x) m

PCB layout Kat1kGVA (View: component side)




IP67 D-SUB CONNECTORS

PCB LAyout D-SUB HIGH DENSITY
Solder pin, angled, .220"/5.6 mm - Plug connector

25¢0,12
-0.13
15 pos. 62 Pos.
10.28720.05 635001
2.286:0.1 49,467:0.05
HA|3101 2.413:0.
$3.1:01 (2x) 4 826:0.1 120704
$3.1:01 (2x) 7.036:003
+0.03
1_\ 7674 1 24714201
" . A
Y &
o oo 8 -t bbbt b -0t
N b = I bbb bbb bbb bbb bbb
Y T _ta_ RN A A S G A A 4 AR AR A A0 A AN Ak SN 2 ¢
T e hbed D N e
n P.CB. EDGE = 0 P.CB. EDGE =
o~ | % S | &
< S| = = 3| @
- FRONTPANEL ) FRONTPANEL | &
- ARy
NE A 20.9:0" 62x) 4
80901 (15x) ™
26 Pos. 78 pos. o
333:3P o113
19.4,31£0.05 £5.847+0.05
2413201
2.28620.1
| 1207201
1143204
$3.1:01 (2x) 7.626+0.03
©3.10.1 (2x) 6.99820.03 1 22924201
1 9.652+0.1 \
_\ . bbb bd> b Db
= b0~ 0 -$14- S 40 444
9 * AARAAAARARARARARAANEET
3 AASIRANS RMWAAANAMIA ARV .
ax ARRARASE > - R S A 13
U & AAA & P.CB. EDGE 13 2
@ P.C.B. EDGE pad = g &
= S| 3 FRONTPANEL = I
= =1 BYa a2l o~
FRONTPANEL || . . . _ gl # oo 20.9°5" 178x) m
1
K
20.9:3" (26x) ™
44 pos. 47.0420.13
33.147:0.05
2.28620.1
11432041
©3.1:0.4 (2x) 7.01:0.03
1_\ 16.51:0.1
n
2 o-4—b4—¢—4H-o-94-o4-¢
N G- ¢—--d-0—4- o4
1/ &-bd-0-d-& [RFSPRNIIN i
PR PP PRI
n P.C.B. EDGE b=
@ %
= S| =
=3 A @
! FRONTPANEL o B
o IS
2090 (44x) m

PCB layout Kat1TkGWA (View: component side)




PCB LavouTt D-SUB SoLip Boby
Solder pin, angled, .402"/10.2 mm - Socket connector

IP67 D-SUB CONNECTORS

10.75

9 pos.
5.49:0.1
2.74104 $3.1:0.1 {2x)
o197 (9x)
/
¢
Fan N
A 4
o
w B
sl = P.CB. EDGE 3
-~
FRONTPANEL 3| 3
137204 o
411204
2548
15 pos.
9.620.1
6.86+0.1
411201
1.37:01 $3,1:01 {2x)
o197 (15x) .
-4 [
V) YN
v $-¢—¢
n
wn @
=S P.CB. EDGE S
- ~t
FRONTPANEL 5| 2
%
2.743504 e
5.490.1
8.23:01
333783
25 pos. 16.56:0.1
13.82201
11,0501
8.2840.1
55410 $3.1:01 (2x)
¢t3'1 (37x) 27701 1
b4 [
Py N
" A -~ -4
£
@
P - P.CB. EDGE 3
FRONTPANEL =
g <
1.420.1 2
41401
6,91£0.1
9.6820.1
12.4.2101
15.1920.1
47.0420.83

PCB layout Kat1kGMA (View: component side)

37 pos.
2484201
22,1501
19.33:04
16.5620.1
13.82+01
11,0581
8.28:01
55450 ©3.1:0.1 (2x)
o1} 37x) 277504 ) .
I i /
PR N
N7 R e o
9
hd P.C.B. EDGE 3
3
FRONTPANEL s 2
1.4201 I
4 14200
6.91:0.
9.68:0.1
12.42+01
151901
17.96:04
20.7£01
23.47201
63.5:0.13
50 pos.
22.1:04
19.33:0.1
16.5620.1
13.8220.1
11.05:01
8.28+0.1
5.5440.1 $3.120.1 (2x)
81" 1500 27701 ,
“ —d -b——e - &—d> l [
Y Y Y Y Y Y Y Y hd
N ARt &
\ bbb bbb slodalelelalsls L/

m T eI ee PTPIPTRTRRTE® -
m m =3
N - 3
o P.C.B. EDGE 2| =

3 o~
FRONTPANEL = bt
14041 2
4.16+01
6.91:0.1
9.68:01
1242204
15.19:01
179601
20.7+01
sursh




IP67 D-SUB CONNECTORS

PCB LAvout D-SUB Souip Boby
Solder pin, angled, .402"/10.2 mm - Plug connector

9 pos. 37 pos.
2484204
5.49:01 22104
19.33:04
27404
o 16,5620
oT8 (9x)
13.82:01
1 ©3.120.1 {2x) 11.0520.1
_\ 8.28104
¢ 01
RN N o1y 371 554201 3104 [2x)
- ¢
ol 3 _ 1 277504
s P.C.B. EDGE 3 _\ l
- -3
FRONTPANEL s 2 T-d—d-b—0—4-0—4-4-0—
S| o Ty & bbbt AR
A % $—6--o—$-4—0—4-4
13704 A o8 _
41104 sl @ P.CB. EDGE <
g 3
253 FRONTPANEL - &
: 3
A
14201 =
414501
6.91£0.9
15 pos. 9.68:0.1
12.42:01
15.1920.1
17,9620
96401 20.7:01
6.86201 23.47:04
41201 63.5:0.13
1.37:04
o7 (15x
1_\ $3.1:0.1 (2x)
PR
A A 4
&-d—d —
P-—¢
wn
wy ©
£ “’l P.CB. EDGE b 50 pos.
e 3
FRONTPANEL 3| <
2
274201 = 22150
5.49:04 19.33:04
:-33:0-1 16.56204
33328
-0.12 13.82:01
11.05201
8,28:04
01
14 (50x) 5.5420.1 $3.1204 (2x)
1_\ 277404
25 pos. bbb bbb b l
Y Y Y Y Y'Y Y A d
Py ——b-o—¢-4-¢—¢ S
N bbb bbo-6bolelelelolelelsle N
16.56£0.1 m AR S S AL S S SR SR AR SRR ARARARARANS -
n| m <
al 3 3
13.82:01 o P.CB. EDGE 3 2
3 S
1105201 FRONTP ANEL sl &
828401 1401 =
0.1 -3
oty (37x) 554201 414401
1—\ 2.77501 $3.1501 {2x) 6.91«0.1
&b b l 9.68:0.1
P ¢—9-% A =
o -6 4-9—¢ S 12,6220
4
5 2 P.C.B. EDGE 3 15.19:0.4
S 3
FRONTPANEL 5| 17.96£04
3
14201 a 20.7:04
41hs01 61153
6.9120.1
9.6820.
1242404
15.1920.1
47.0420.3

PCB layout Kat1kGNA (View: component side)




IP67 D-SUB CONNECTORS

PCB Lavout D-SUB SoLip Boby
Solder pin, angled, .587"/14.9 mm - Socket connector

9 pos. 37 pos.
5.49:01 2484201
274204 221401
otg'ion . 19.33:01
$3.1:0.1 (2x) N /— 16.5610.1
¢
44 13.82:04
3| = 11.05+0.1
= 7 6} a2
Pl 2 2 8.28:0.1
S P.CB. EDGE Tt~
- 5.5410.1
FRONTPANEL S8 1370 27701
1.37¢0.1
31 $3.1:041 (2x) TN l
4.11e01 Lok an Bh au . o an 4h o an 2
"3 bbb bbb b
2508 -4 $—-6——4¢
7 A 3
w8 g 2
px{ B P.CB. EDGE Tt~
FRONTPANEL
1401
_l 5 41404
POS. 6.91:01
9.68:0.1
12.42:01
9.620.1 15.19+0.1
6.86+0.1 17.96201
51101 207501
1.37:01 2347201
2.1
o1y (15x) o 4 63.5:0.13
93.1:01 {2x) n N f
44
A
-6
© 3 =
- ﬁ’ 2 2 37
sl ™ P.CB. EDGE o POS.
FRONTPANEL
27401
5.4:01 221201
823201 19.33:04
3332208 16,5620
13.82:0.1
11.05+01
828201
5.5410.1
o1 (50x) 2.77:01
Agn an s alon Sl on l
$3.160.1 (2x) RARKANRARN
-4
25 pos. S bbb 01 b1 11 ST S -
3l o 2
16.56+01 q E § ; 2
1382103 o £.CB. EDGE o~
1052041 FRONTPANEL
8.28:01 14201
5.54:01 414301
9181 (25 27701 6.91:0.0
4 (6210
931201 {2x) R l [ 9.6840.1
$4-d-9d-do0o
bbb b b s 12.4,2:04
-4
E} 3l = 15194041
@ £| g 2 17.96401
bt I P.C.B. EDGE &
= 207501
FRONTPANEL
6110%
14404 Ll
414401
6.91201
9.68:0.1
12.4250.1
151901
47.0420.3

PCB layout Kat1kGOA (View: component side)

8|42 <O




IP67 D-SUB CONNECTORS

PCB LAvout D-SUB Souip Boby
Solder pin, angled, .587"/14.9 mm - Plug connector

9 pos. 37 pos.
549401
2.74201
o1 i9x) 2484201
22,101
1
19.33+0.1
$3.1:01(2x) N\ N 9.33
% 1656201
A
M 13.82201
S © 3 s s
% g 3 105201
w| ® = @
@ I s =
Py P.CB. EDGE ~ 8.28:0.
FRONTP ANEL ot 370 554201
1.37+01 4 2.77101
1s01 i} $3.1201 (2x) \‘ bbbt bbb l .
2502 ARAARARAN
464444
It S
© 3 3
@ gl =
w = s &
Py P.C.B. EDGE ~
FRONTPANEL
14201
L4201
15 pos. *
691201
9.68201
12.42+0
96201 15.19:0.1
686201 17,9620
4.11+01 20,720
137201 23.47+0
0.1
#13! (15x) 635:03
1—\
$3.1:041 (2x) Woooo
444
d-db-o&
-4
¥ @ 3 s 50 pos.
o 8 =
S| .C8. EDGE ~
FRONTPANEL
274201 22,1504
5.49201 19.33:01
8.23201 16.5620.1
3332283 13.82:0
105209
8.28:0.
#181(50x) 55440
1\ 277204
#3120 (2x) o444 l
25 pos. 4o 4-¢—4
56 L S atanliar i i anals -
401 - p=3
D g .3
13.82:01 - A ES I ]
gl 2 2 &
105501 o P.C8. EDGE ~
8.28:04 FRONTPANEL
9781 (25x) 554204 14204
4 27701 414201
#3120 (2x) _\ e l |6,9t01]
b—4-b—4-d—0—¢
bbb bbb 968401
44469
& 3| . 12.62:01
wn g s
vl & F={ - 15.19+041
s P.LB. EDGE ~ 1796201
FRONTPANEL 20701
14201
- oLred
414201
691201
9.6820.1
12.42:01
15.19:01
47.04:013

PCB layout Kat1kGPA (View: component side)

CONEC® 8|43



IP67 D-SUB CONNECTORS

PCB Layout D-SUB HiGH DEeNsITY SoLipD Bobpy
Solder pin, angled, .484"/12.3 mm - Socket connector

15 pos.
2515
10,287 +0,05
[
2,286+0,1
[
1,143%0,1 5,461+0,1
@3,1z0.1 (2x) . 7,039+0,03
$-¢
- o1 b o
7] & 64 & Q
Lf'\) q)h TR Y
S| © P.C.B. EDGE
- FRONTPANEL % % S
+H
B0,945" (15%) o 2 8
~N| o
26 pos.
33,3215313
19,431+005
2,28610,1
|
1,143+01 9,779x0,1
?3,1+0,1 (2x) ] 6,881+003
& - &--0--O-
¥y A a4 4
0 4460464 F
0 &b -t & -
ITe) © Y ¥y nr Yy
S| © P.C.B. EDGE
- FRONTPANEL sl 3| g
al 3| &
$0,9+3" (26x) w22

PCB layout Kat1kGQA (View: component side)

Vel | Hel
\\ll~ =

8|44

44 pos.

47,04+0,13
33,147 +0,05
2,2860,1
l
1,143+0.1 16,637x0.1
B3, 10,1 (2x) . 6,883:003
o -0 -6-6-& & 6000 A‘
AR AR A 40 A I A S A AR AN 4h 4
G AN
[Te) W OO -0 &--B--&- &--b--&- tj
ol 8 404 ¢ ododoped
o ©w P.C.B. EDGE
— - - -
FRONTPANEL s| 5| s
H +H H
01 238
+U,
@0,9+0" (44x) w| 23
=
62 Pos.
63,5+0,13
49,467 0,05
2,413x01
[
1,207 +0,1 24,752 0,1
?3,1+01 (2x) 6,998+003
1\
&6 & -0 -0 & 0600606060
4906406090400 06 004
0 + & -6 -0 - -0 -0 -O--& & & - -O--&- -0 & -0 - -&- t’)’
wl 3 R R S R R
0 ®
S| © P.C.B. EDGE
- -
FRONTPANEL g g S
&l 3] @
0,1 S os]
0,941 (62x) sl 2] %
=)




IP67 D-SUB CONNECTORS

PCB LAvout D-SUB HiGH DENsITY SoLiD Boby
Solder pin, angled, .484"/12.3 mm — Plug connector

15 pos.
0,12
254013
10,287 0,05
l
2,286+0,1 4,826+0,1
l
1 ,143; 0.1 7,674+0,03
@3,1+0.1 (2x)
b
& &-
-4
_ 9149 ins
ol 8 vobpo
'c\i =3 P.C.B. EDGE
- FRONTPANEL _ 5| 3| s
R
0,957 (15x 2 2| &
20,9+37 (15x) sl 28
26 pos.
33321313
19,431x0,05
2,286+0,1 9,652+0,1
|
1,143x0,1 7,008+0,03
] @3,1x0,1 (2x)
al
AR
: O AR AR <
9 booohhdo—
ol o
'c\; < P.C.B. EDGE
- FRONTPANEL sl s 3
4 24
%0,931 (26x) s 2 8
~ e

PCB layout Kat1kGRA (View: component side)

44 pos.
47,04+0.13
33,147 £0,05
2,286+0.1 16,5101
[
1,143z0,1 7,01+0,03
?3,1+0,1 (2x)
i
\AAAAA* &5--6--0--O--b-
hdh 4 4 S 4 4 b A b 4 4
OO0 OO -0--6--&- - -&-B--0
- 0 MARAARAAARANS e
0 8 04000 oo pood ™
N
S| @ P.C.B. EDGE
= - = =
FRONTPANEL 5| o| o
H H H
@| | ©
$0,943" (44x) S = 8
~| o
e
62 pos.
63,5+0,13
49,467 to005
2,413z0.1 24,714 x0.1
|
1,207 0,1 7,036+0,03
@3,1x0,1 (2x)
I
\A&'AA‘A"'A & 6 -6 -6 O -6
A0 0 0 20 A 20 4 46 A0 20 A 20 0 20 A8 2 AR 4
AAARAAAARARAAARARAA
T + ottty toth i bt dn b i b wa
R © Y Y Y YYYYYYY Y YY Y Yy Y
S| © P.C.B. EDGE
- FRONTPANEL sl 5| &
E{ I
<t
+0,1 | | ™
©0,9+3" (62x) w| @ G
=
ld o | Hedd
\\ll‘l:\

8|45



IP67 D-SUB CONNECTORS

PCB LAvout D-SUB HiGH DEeNsITY SoLiD Boby
Solder pin, angled, .362"/9,2 mm - Socket connector

15 pos.

+0,12

257013

10,287 +0,05

|
2,286+0,1

|
1,143£0.1

@3,1+0,1 (2x)

5,461+£0,1

7,039+0,03

o

&

P.C.B. EDGE
FRONTPANEL | |

$0,9+5" (15x)

10,75

5,3z01

7,84£0,1
10,38x0,1

26 pos.

33,321513

19,431+005

2,286x0.1

|
1,143x01 9,779+ 0,1

?3,1x01 (2x)

6,881+0,03

o

,85

P.C.B. EDGE
FRONTPANEL

10,75

5,3+01

7,84x0.1
10,38x0,1

$0,9+5" (26x)

PCB layout Kat1kHRA (View: component side)

CONEC®

8|46

44 pos.
47,04+0,13
33,147 +0,05
2,286+0,1
l
1,143+0,1 16,637 x0,1
@3,1z01 (2x) ; 6,883+0,08
BB -O--&--&- & -G -B--&)- - :\A
T YYYY WYY Y YV
o L GF
ol 2 L e e N S R -
2 <
S| © P.C.B. EDGE
= -1 =] =
FRONTPANEL | 5| S
H H H
01 23| 8
+U,
@0,9+3" (44x) sl 2 o
=4
62 pos.
63,5+0,13
49,467 +0,05
2,413+£0,1
1,207 +0,1 24,752+0,1
@3,101 (2x) 6,998+ 0,03
1\
O -6 B -O- - -6 & &S O -d -0 -5 -0 -0
Lol 2 AL an I o R 2 o AL
L A L
7o) W & - -& - -O--& & -& & - O - -0 &- - - -0 t}
ol 8 L a2 S
2 ®
S| © P.C.B. EDGE
2 -
FRONTPANEL =l 5l 5
H H cg
| <
0,1 3 @
20,9427 (62%) sl 2 2
=
78 pos.
+0,14
61,1 %11
45,847 £0,05
2,413x01
|
1,207 01 22,924 10,1
@3,110,1 (2x) 7,626+003
1
$660000oo0ddoooddododd
D bbododddEsdddodo
AR A0 40 20 40 0 2R Jh 40 20 2B A 40 Jh 4a 4
D 44460944600 464004460 L
™ o & Bt O & -O--0- -0
Q| @ Lah2h g B e A At o
o ® P.C.B. EDGE
- -
FRONTPANEL s| s 8| s
H H H (tli
| | ®
0,1 | B @
@0,9+9" (78) w| 2| 2 &
- -




IP67 D-SUB CONNECTORS

PCB LAvout D-SUB HiGH DENsITY SoLiD Boby
Solder pin, angled, .362"/9,2 mm - Plug connector

15 pos.
0,12
254013
10,287 20,05
I
2,286x0,1 4,826+0,1
|
1,143=0.1 7,674x0,03
| @3,10,1 (2x)
2
-0
, P4-¢ Y
© ] ¢ o
S| @ P.C.B. EDGE _
- FRONTPANEL S é s
H
0,901 (15x ol &8
0,957 (15x) sl 23
26 pos.
33,32+313
19,431+0,05
2,286+0.1 9,652x0,1
I
1,143+0,1 7,008+0,03
| @3,1£0,1 (2x)
[ LaLan i ae g
- U AR AR o
0 &--0--0--0-B &
ol g L
N
S < P.C.B. EDGE
FRONTPANEL i é he
H
$0,991 (26x) ol 2 8
~l e

PCB layout Kat1TkHQA (View: component side)

44 pos.
47,04+013
33,147 £0,05
2,286+0.1 16,5101
l
1,143x0,1 7,01£003
@3,10,1 (2x)
i
\AJ\AAAA O -0--O--O-&--0>-
¢94-644pb444-4$
&b -0--0--&-B--6--&-&
i o ¢4-o4-6-0-699669 <
0w 5 6000060boo o6& 7
Lf'\) @ PO IPOORPEE
S| @ P.C.B. EDGE
= | =] =
FRONTPANEL s| o o
H H H
0| ¥| ®
$0,973" (44x) S| 2| @
~N| o
=
63,5+0.13
62 pos. 49,467 £0.05
2,413z0.1 24,714 x0,1
|
1,207 0,1 7,036+0,03
@3,1+0,1 (2x)
I
\A.&A*A;&A,&A &b 66060060
VIV‘Y.V‘VI‘]"V‘Y.VI .YIYIY“YIV‘YIY‘VIY‘
T + bbb bbb b bbb b b WA
o] 8 ¢4 4660660406400 H b0
M~
S| @ P.C.B. EDGE
- FRONTPANEL sl 5| S
al 3l &
~
+0,1 T | M
@0,9+0" (62x) w| 2|8
e
78 pos.
+0,14
61,1543
45,847+0,05
2,413z0.1 22,924 +0,1
|
1,207 £0,1 7,626+0,03
@3,1=0,1 (2x)
1
PR NP U S WD S S Nl P A S N S S S W S §
R A G A S A A A A A A e 4
6660060600600 -&-6-6-6
/ LOR SR AN A0 S0 A0 A A0 S0 40 S0 O S 4 40 4N 4
\-{D— O - OO OO -0 O O -0 -0 B -0 O -8 -0 -0 -O--& -0 +
AR A 2 A S 40 4 A0 G 2 4 S A 2 A S 28 4
o -0 0600600060 & -6 O -6 -6 -6
8 ] PP PIOOOOOROOOOO
ol ® P.C.B. EDGE
o
FRONTPANEL

0,957 (78x)

5,3+0,1
7,84+0,1

CONEC®

10,38z0,1
12,92+ 0,1

8|47



@Iasﬂ U

KomnaHus ((3J'IeKTpO|_|J'|aCT» npeanaraeT 3akKn4vyeHmne onrocpoYHbIX OTHOLLIEHUN npu
NOoCTaBKaxX MMMNOPTHbIX 3NTEKTPOHHbIX KOMMOHEHTOB Ha B3aMMOBbLIFO4HbIX yCJ'IOBI/lFlX!

Hawwn npeumyuiectsa:

e OnepaTuBHbIE NOCTABKM LUMPOKOrO CMeKTpa 3NeKTPOHHbIX KOMMNOHEHTOB OTEYECTBEHHOIO U
MMMOPTHOrO NPON3BOACTBA HANPAMYO OT MPOM3BOAMTENEN U C KPYNMHENLLNX MUPOBbLIX
CKNaaos.;

MocTaBka 6onee 17-TM MUNIIMOHOB HAMMEHOBAHWUIN 3NEKTPOHHbLIX KOMMNOHEHTOB;

MocTaBka CNoXHbIX, AeULNTHBIX, MMOO CHATLIX C MPOM3BOACTBA NO3ULIUIA;

OnepaTtunBHbIE CPOKM NOCTABKM Nof 3aka3 (0T 5 pabounx gHewn);

OKcnpecc goctaska B Nnobyto Touky Poccuu;

TexHnyeckas nogaepkka npoekTa, NomMoLLlb B nogdope aHanoros, NocTaBka NPOTOTUMOB;

Cuctema MeHeXMeHTa KavyecTBa cepTuduumnposaHa no MexayHapogHomy ctaHgapTty 1ISO

9001;

o JlnueHausa ®CH Ha ocyulecTBneHne paboT ¢ NCNONb30BaHWEM CBEOEHUIN, COCTABAOLLINX
rocygapCTBEHHYIO TalHy;

o [locTaBka cneumnanmampoBaHHbIX KOMNoHeHToB (Xilinx, Altera, Analog Devices, Intersil,
Interpoint, Microsemi, Aeroflex, Peregrine, Syfer, Eurofarad, Texas Instrument, Miteq,
Cobham, E2V, MA-COM, Hittite, Mini-Circuits,General Dynamics v gp.);

MoMMMO 3TOro, O4HMM M3 HanpaBnNeHU koMnaHum «AnekTpollnacT» ABNseTca HanpaBneHne

«UcTouHmkn nutaHua». Mel npeanaraem Bam nomoub KoHCTpyKTOpCKOro otaena:

e [logGop onTuManeHOro peleHus, TexHn4eckoe 060CHOBaHME Npu BbIOOpPE KOMMOHEHTA;
Monbop aHanoros.;
KoHcynbTaumm no NpUMEHEHMIO KOMMOHEHTA;
MocTaBka 06pa3yoB M NPOTOTUMNOB;
TexHn4veckasn noaaepka npoekTa;
3awmTa OT CHATMSA KOMMOHEHTA C NPON3BOACTBA.

Kak c Hamu cBfizaTbCcA

TenedoH: 8 (812) 309 58 32 (MHOrokaHanbHbIN)
Pakc: 8 (812) 320-02-42

OnekTpoHHas nouTta: org@eplastl.ru

Aapec: 198099, r. Cankt-INeTepbypr, yn. KannHuHa,
Oom 2, kopnyc 4, nutepa A.



mailto:org@eplast1.ru

